i, It adten vl
V National Testing Agency

Test Date : 24 reb 2023 Test Slot : siot 2

'Subject : 3-Philosophy

Paper I: 201-General Paper

Sl. No.1
QBID:16201001

The following table shows the percentage (%) distribution of wheat production in seven
different countries, namely, India, China, Japan, Srilanka, Indonesia, Pakistan and
Bangladesh by deploying Scientific Method and Conventional Method. Total production of
wheat in these countries is 50 lakh tonnes. Based on the data in the table, answer the

questions that follow

Country-wise Distribution of Wheat Production

o Distribution (%) of Wheat
Distribution (%) of Wheat .
. Production
Country | Production (out of 50 lakh S -
Scientific | Conventional
tonnes)
Method Method
India 18% 32% 68%
China 22% 70% 30%
Japan 20% 78% 22%
Srilanka 13% 60% 40%
Indonesia 10% 73% 27%
Pakistan 9% 66% 34%
Bangladesh 8% 20% 80%
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The difference between the production of wheat by the Scientific Method and the Conventional
Methoed in Indonesia is lakh tonnes.

1.2.3
2.28
3.25
4. 3.1

(1) 1
(2) 2
3) 3
(4) 4

SSIHREH dRiA® Ugid AR URARS Ui gRI7IE e & §id al ____ @M e g

1. 2.3
2.28
3.25
4. 3.1

1)1

(2) 2

(3) 3

(4) 4

1[Option ID=26101] Question Description : dwbv_pg_gp16_eng_2_q1l
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The following table shows the percentage (%) distribution of wheat production in seven
different countries, namely, India, China, Japan, Srilanka, Indonesia, Pakistan and
Bangladesh by deploying Scientific Method and Conventional Method. Total production of
wheat in these countries is 50 lakh tonnes. Based on the data in the table, answer the

questions that follow

Country-wise Distribution of Wheat Production

o Distribution (%) of Wheat
Distribution (%) of Wheat .
. Production
Country | Production (out of 50 lakh S -
Scientific | Conventional
tonnes)
Method Method
India 18% 32% 68%
China 22% 70% 30%
Japan 20% 78% 22%
Srilanka 13% 60% 40%
Indonesia 10% 73% 27%
Pakistan 9% 66% 34%
Bangladesh 8% 20% 80%

99 U, didet, sSARm, ufdw td aiaes d g Sded & ufawa (%) G &t
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EINIE] 20% 78% 22%
EIRGA 13% 60% 40%
SRR 10% 73% 27%
Bl 9% 66% 34%
S [Rf] 8% 20% 80%

The approximate average production of wheat (in lakh tonnes) by the Scientific Method for all the

seven countries is

1.3.06
2.3.16
3.4.12
4.4.24
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1[Option ID=26105] Question Description : dwbv_pg_gp16_eng_2_q2
2[Option ID=26106]
3[Option ID=26107]
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The following table shows the percentage (%) distribution of wheat production in seven
different countries, namely, India, China, Japan, Srilanka, Indonesia, Pakistan and
Bangladesh by deploying Scientific Method and Conventional Method. Total production of
wheat in these countries is 50 lakh tonnes. Based on the data in the table, answer the

questions that follow

Country-wise Distribution of Wheat Production

o Distribution (%) of Wheat
Distribution (%) of Wheat .
. Production
Country | Production (out of 50 lakh S -
Scientific | Conventional
tonnes)
Method Method
India 18% 32% 68%
China 22% 70% 30%
Japan 20% 78% 22%
Srilanka 13% 60% 40%
Indonesia 10% 73% 27%
Pakistan 9% 66% 34%
Bangladesh 8% 20% 80%

99 U, didet, sSARm, ufdw td aiaes d g Sded & ufawa (%) G &t
et 81 39 3= &1 P A IS 50 TG ¢ §1 59 AIGdT & Pl & MUR W Ut F
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YR 18% 32% 68%
GIE| 22% 70% 30%
EINIE] 20% 78% 22%
EIRGA 13% 60% 40%
SRR 10% 73% 27%
Bl 9% 66% 34%
S [Rf] 8% 20% 80%

The ratio of production of wheat by Conventional Method in Pakistan to that by the Scientific
Method in Japan is -

1.9:40
2.99:260
3.51:260
4.49:40
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1[Option ID=26109] Question Description : dwbv_pg_gp16_eng_2_q3
2[Option ID=26110]
3[Option ID=26111]
4[Option ID=26112]
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The following table shows the percentage (%) distribution of wheat production in seven
different countries, namely, India, China, Japan, Srilanka, Indonesia, Pakistan and
Bangladesh by deploying Scientific Method and Conventional Method. Total production of
wheat in these countries is 50 lakh tonnes. Based on the data in the table, answer the

questions that follow

Country-wise Distribution of Wheat Production

o Distribution (%) of Wheat
Distribution (%) of Wheat .
. Production
Country | Production (out of 50 lakh S -
Scientific | Conventional
tonnes)
Method Method
India 18% 32% 68%
China 22% 70% 30%
Japan 20% 78% 22%
Srilanka 13% 60% 40%
Indonesia 10% 73% 27%
Pakistan 9% 66% 34%
Bangladesh 8% 20% 80%

99 U, didet, sSARm, ufdw td aiaes d g Sded & ufawa (%) G &t
et 81 39 3= &1 P A IS 50 TG ¢ §1 59 AIGdT & Pl & MUR W Ut F
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iG] 22% 70% 30%
EICH 20% 78% 22%
Eincal 13% 60% 40%
EGIEIEID) 10% 73% 27%
BliGasict 9% 66% 34%
EIRICE] 8% 20% 80%
Production of wheat in Srilanka by the Conventional Method is approximately ____ times the

production of wheat in India by the Scientific Method.

1. 1.5
2.09
3. 2.1
4.1.2
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1[Option ID=26113] Question Description : dwbv_pg_gp16_eng_2_q4
2[Option ID=26114]
3[Option ID=26115]
4[Option ID=26116]
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The following table shows the percentage (%) distribution of wheat production in seven
different countries, namely, India, China, Japan, Srilanka, Indonesia, Pakistan and
Bangladesh by deploying Scientific Method and Conventional Method. Total production of
wheat in these countries is 50 lakh tonnes. Based on the data in the table, answer the

questions that follow

Country-wise Distribution of Wheat Production

o Distribution (%) of Wheat
Distribution (%) of Wheat .
. Production
Country | Production (out of 50 lakh S -
Scientific | Conventional
tonnes)
Method Method
India 18% 32% 68%
China 22% 70% 30%
Japan 20% 78% 22%
Srilanka 13% 60% 40%
Indonesia 10% 73% 27%
Pakistan 9% 66% 34%
Bangladesh 8% 20% 80%

99 U, didet, sSARm, ufdw td aiaes d g Sded & ufawa (%) G &t
et 81 39 3= &1 P A IS 50 TG ¢ §1 59 AIGdT & Pl & MUR W Ut F
I g

g IIG BT ¢¥ER faazu
.- ﬂﬁ'a’wmﬁag(%) (50 ARE eI | Eﬁ?ﬁﬁm{:)
UEd g&fd
HRd 18% 32% 68%
iG] 22% 70% 30%
EICH 20% 78% 22%
Eincal 13% 60% 40%
EGIEIEID) 10% 73% 27%
BliGasict 9% 66% 34%
EIRICE] 8% 20% 80%
Production of wheat in India by the Scientific Method is approximately __ % more than the

production of wheat in Pakistan by the Conventional Method.

1.88.24
2.86.26
3.82.14
4.78.24
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1[Option ID=26117] Question Description : dwbv_pg_gp16_eng_2_q5
2[Option ID=26118]
3[Option ID=26119]
4[Option ID=26120]
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Which of the following softwares can be used to develop quizzes?
A, Wakelet

B. Learning Pod

C. Pixton

D. Hot Potatoes

E. Socrative

Choose the correct answer from the options given below:

1. A and C only
2.B,C, DandEonly
3.B, D and Eonly
4. A, DandE only

1)
(2)
(3)
(4)

A W N R
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1[Option ID=26121] Question Description : dwbv_pg_gp16_eng_2_q6
2[Option ID=26122]
3[Option ID=26123]
4[Option ID=26124]

Sl. No.7
QBID:16201007

What are the learning styles according to Fleming's VARK model of learning?

1. Verbal, Auxiliary, Kinesthetic, Rehearsal

2. Visual, Auditory, Reading/writing, Kinesthetic
3. Verbal, Augmentative, Retrospective, Kinetic
4. Visual, Augmentary, Reading, Kinetic

(1)
(2)
(3)
(4)

TRITHT o a0 SR, (VARK) TS 5=l & 38R DI Sfim Afeat 82

1. TG, TS, TasI4®, gararg
2. TG, YaAUD (HSedl), UaH/aEH, dy®s

3. A, sMasdd® (AimHeea), gd-uumd, 1 (@re-iem)
4. g, snaslf (3fimHed), s, Tfaw

A W N =
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1[Option ID=26125] Question Description : dwbv_pg_gp16_eng_2_q7
2[Option ID=26126]




3[Option ID=26127]
4[Option ID=26128]

Sl. No.8
QBID:16201008

Rahul was trying to solve some mathematics problems related to trigonometry. He tried many
times but failed. His teacher helped him, which led him to follow right approach and he
succeeded to solve these problems. This is an example of-

1. Zone of the proximal development
2. Equilibrium

3. Assimilation

4. Schemas

(1)
(2)
(3)
(4)
egd Bratufifa 9 Y&t 1frd &1 oo T9wisi & 1 &1 W R 361 411 39 36 aR Ta™
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87
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1[Option ID=26129] Question Description : dwbv_pg_gp16_eng_2_q8
2[Option ID=26130]
3[Option ID=26131]
4[Option ID=26132]
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Which of the following curriculum development models come under Non technical, Non-scientific
models?

A. Open Classroom Model

B. Goodlad's Model

C. Roger's Model of Interpersonal Relations

D. Weinstein and Fantini Model

E. Taba's Model

Choose the correct answer from the options given below:

1.B and E only
2.A CandD only
3.C, DandEonly
4.B and D only

(1)
(2)
(3)
(4)

A W N =
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1[Option ID=26133] Question Description : dwbv_pg_gp16_eng_2_q9
2[Option ID=26134]
3[Option ID=26135]
4[Option ID=26136]

Sl. No.10
QBID:16201010




SWAYAM is a platform that facilitates hosting of all the courses, taught in classrooms from ----- to
be accessed by anyone, anywhere at any time.

1. class 9™ ill the post- graduation

2. class 8™ till the post- graduation
5th

3. class 5™ till doctorate degree

4. class 7™ till the post- doctoral degree

(1)
(2)
(3)
(4)
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1[Option ID=26137] Question Description : dwbv_pg_gp16_eng_2_q10
2[Option ID=26138]
3[Option ID=26139]
4[Option ID=26140]

Sl. No.11
QBID:16201011

Which of the following scales of measurement contains an absolute zero?

1. Nominal
2. Ordinal
3. Interval
4. Ratio

(1)
(2)
(3)
(4)
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(2) 2

3) 3

(4) 4

1[Option ID=26141] Question Description : dwbv_pg_gp16_eng_2_q1l1l
2[Option ID=26142]

3[Option ID=26143]
4[Option ID=26144]

Sl. No.12
QBID:16201012

Robustness is concerned with

1. External validity

2. Internal validity

3. Measurement validity
4. Construct validity

(1)
(2)
(3)
(4)
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1[Option ID=26145] Question Description : dwbv_pg_gp16_eng_2_q12
2[Option ID=26146]
3[Option ID=26147]
4[Option ID=26148]

Sl. No.13

QBID:16201013
A sampling technigue in which initially sampled respondents contact and recruit others in their
social network for participation in the research is called

1. Convenience sampling
2. Snowball sampling

3. Quota sampling

4. Systematic sampling

(1)
(2)
(3)
(4)

A W N =
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1[Option ID=26149] Question Description : dwbv_pg_gp16_eng_2_q13
2[Option ID=26150]
3[Option ID=26151]
4[Option ID=26152]

Sl. No.14
QBID:16201014

Arrange the following components of a research paper written in APA style, in correct order
A, Tables

B. Abstract

C. References

D. Figures

Choose the correct answer from the opticns given below:

1.B,CAD
2.B.C DA
3.BADC
4.B. A CD

(1)
(2)
(3)
(4)

A W N =
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(1)
(2)
3)
(4)
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1[Option ID=26153] Question Description : dwbv_pg_gp16_eng_2_q14
2[Option ID=26154]
3[Option ID=26155]
4[Option ID=26156]

Sl. No.15
QBID:16201015

Given below are two statements:
Statement I: Debriefing of participants takes place at the beginning of a study.

Statement I Deception is the practice of giving false information to research participants about
some aspect of the study.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is carrect but Statement Il is incorrect.
4, Statement | is incarrect but Statement Il is correct.

(1)
(2)
(3)
(4)

A W N =
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1[Option ID=26157] Question Description : dwbv_pg_gp16_eng_2_q1l5
2[Option ID=26158]
3[Option ID=26159]
4[Option ID=26160]

Sl. No.16
QBID:16201016

The linear model of communication can be described as

1. Liberal

2. Authoritarian
3. Confessional
4. Participatory

(1)
(2)
(3)
(4)

TUNU & WG Aisd &1 v, FefaRad 3 9 feg ©u d o o 9@ar e2

1. 3GRAG!
2. TaErat

3. APl
4. g YTl

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26161] Question Description : dwbv_pg_gp16_eng_2_q16
2[Option ID=26162]
3[Option ID=26163]
4[Option ID=26164]

Sl. No.17
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Studying the practical use of signs and their impact on everyday life is called

1. Linguistics
2. Syntactics
3. Semantics

4. Pragmatics

(1)
(2)
(3)
(4)

A W N =
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1. Y9I-fa=g

2. qIiaaTy fagH

3. Fear fagm

4. VOIS HT9T-IRd T (o)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26165] Question Description : dwbv_pg_gp16_eng_2_ql17
2[Option ID=26166]
3[Option ID=26167]
4[Option ID=26168]

Sl. No.18
QBID:16201018

What factors are responsible for ineffective listening in a classroom?
A. Contextualisation of message

B. Attention-triggers

C. Physical or mental fatigue

D. Lack of incentive

E. Insufficient preparation

Choose the correct answer from the options given below:

1. A, B, Conly
2.C,D, Eonly
3.B,C Donly
4. A, D, Eonly

(1)
(2)
3)
(4)

A W N R




H&T H FYTE 9au §q ST FR® HHaRdd § § ®H 9 87
A Gem @ gey-Fufo
B. & fara® (3rdzH-fo)

C. TIRIN® Ud AF® YbH

D. TR& B HHG

E. HUTI qarl

T feu U f9seul 5 § 981 I 3
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3. ®dd B, C AR D
4.Had A, D 3R E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26169] Question Description : dwbv_pg_gp16_eng_2_qi18
2[Option ID=26170]

3[Option ID=26171]
4[Option ID=26172]

Sl. No.19
QBID:16201019

The mechanical model of mass communication is characterised by
A. Multiple ways flow

B. One-way flow

C. From one-to-many

D. Can be anonymous

E. Active audience

Choose the correct answer from the options given below:

1.A, B, Conly
2.B.C Donly
3.C,D Eonly
4. A, D, Eonly

(1) 1
(2) 2
(3) 3
(4) 4
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3.®aaC, D ARE
4. HAAA, D AR E

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26173] Question Description : dwbv_pg_gp16_eng_2_q19
2[Option ID=26174]
3[Option ID=26175]
4[Option ID=26176]

Sl. No.20
QBID:16201020

Given below are two statements:

Statement I: In the earlier days of mass communication, content creators played an important role
in the society.

Statement II: They represented and defined reality by authoring narratives to explain to the
audience.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1) 1
(2) 2
3) 3
4) 4
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3. YA | 9 &, dichd &Y 1| S B
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(1)
(2)
(3)
(4)

A W N =

1[Option ID=26177] Question Description : dwbv_pg_gp16_eng_2_q20
2[Option ID=26178]
3[Option ID=26179]
4[Option ID=26180]

Sl. No.21
QBID:16201021

A family comprises of 3 persons A, B and C. The age of A is four times that of B. In four years time,
A will be 40 years old. The age of C was half the age of A four years ago. Find the present age of B
and C (in years), respectively.

1.9, 20
2.9,16
3.16, 32
4.12,18

(1)
(2)
(3)
(4)

% URaGR H A, B AR C A AT 81 A BT TG B B AT BT IR T 6| IR I8 UHTG A B 311 40
ad grft | C B Mg IR a8 Ud A Bt 21 & 3¢l o | HA: 8 2R ¢ T 21g @ul #) 74 B

1.9, 20
2.9,16
3.16, 32
4.12,18

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26181] Question Description : dwbv_pg_gp16_eng_2_q21
2[Option ID=26182]




3[Option ID=26183]
4[Option ID=26184]

Sl. No.22
QBID:16201022

While pointing towards a picture, a man says "This girl is the wife of the grand-son of my
mother”. How is the man related to the girl in the picture?

1. Brother-in-law
2. Father

3. Father-in-law
4, Brother

(1)
(2)
(3)
(4)

Uth IR @1 3R Ydbd B §U U oHick] dgdl o 1ob, I8 ol U1 Al & U &I Udl g 1" dwiik @l
TS| &1 39 Afdd U 791 T6Y 87

1. T/ Sl
2. faan
3. R
4. 4%

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26185] Question Description : dwbv_pg_gp16_eng_2_q22
2[Option ID=26186]
3[Option ID=26187]
4[Option ID=26188]

Sl. No.23
QBID:16201023

A man starts from a point X and walks 20 meters to reach a point Y in the north-east direction. He
then turns right and walks 20 meters again to reach a point Z. How far is the point Z from point
X?

1.20V2 m
2.10¢2 m
3.20m

4. 2V20m

(1)
(2)
3)
(4)

A W N B




U5 e X fag U Ia-1 3RY Sl & AR I) Y4 [ H v g R UgaH & e 20 Hiex 9o &1
98 34D 916 aliel IR SdI g AR Z g M UgeH s Rt R 20 Hicx qaar g1 z eg i x g o
&l foai &2

1.20v2 Tl
2. 10v2 HieX
3. 20 Tl

4. 2420 HieX

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26189] Question Description : dwbv_pg_gp16_eng_2_q23
2[Option ID=26190]
3[Option ID=26191]
4[Option ID=26192]

Sl. No.24
QBID:16201024

A man invests some amount of money for some time period. This amount of money becomes
34500 at the rate of 7% simple interest. However, if invested at 5% per annum simple interest, the
same amount becomes 3500. Find out the amount of money and the time period.

1. 31000, 50 years.
2.32000, 50 years.
3. 1000, 30 years.
4. 32000, 30 years.

(1)
(2)
(3)
(4)

U e fhdl 4RI &1 FHd 5@ 999 & [T Hdl 61 T8 UFRIRT 7% WIURU &1 @1 aX §

34500 Bl WAl &1 quIfil, TfE 59 aiftfes W10 &are &1 &3 | Fdwr fasar 9w at a8t &=-IfR 23500 &1
Sl 81 ¢RI Ud SHamary 9id S -

A W N =

1.% 1000, 50 @Y
2.3 2000, 50 @4
3.71000, 30 @4
4.7 2000, 30 @4

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26193] Question Description : dwbv_pg_gp16_eng_2_q24
2[Option ID=26194]
3[Option ID=26195]
4[Option ID=26196]

Sl. No.25
QBID:16201025




What number should replace question mark (?) in the series given below:
12,12, 24,72, 288, 7, 8640

1. 360
2.1152
3. 1415
4. 1440

(1)
(2)
(3)
(4)

A W N =

rd €1 718 e o o1 Ul U Uy drad (9 (7) B UidRiitd &l 7
12,12, 24, 72, 288, 7, 8640

1. 360
2.1152
3. 1415
4. 1440

(1)
(2)
3)
(4)

A W N &

1[Option ID=26197] Question Description : dwbv_pg_gp16_eng_2_q25
2[Option ID=26198]
3[Option ID=26199]
4[Option ID=26200]

Sl. No.26
QBID:16201026

If 'No metals are gases' is given as false, then which of the following statements can be
immediately inferred to be true?

A. All gases are metals.

B. All metals are gases.

C. Some metals are not gases.

D. Some metals are gases.

Choose the correct answer from the options given below:

1.Cand D only
2. A and B only
3. D only

4. Aand D anly

1) 1
) 2




(3) 3
(4) 4

aig @1 uIg 19 el &' @I 7Tad & wU 1 591 7141 & d) FEfaRed ¥ U 69 &3 & 981 aH @1
dialieid &4 U SHH [l o Thdl 87
A T I UIge B
B. g+l ¢ T B
C. B% 41U T 81 g
D. @ QY T g
T feu U fosenl 5 9 981 I 3 :
1.%dd C 3R D
2. Bad A R B

3. ®dd D
4. HadA AR D

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26201] Question Description : dwbv_pg_gp16_eng_2_q26
2[Option ID=26202]
3[Option ID=26203]
4[Option ID=26204]

Sl. No.27
QBID:16201027

Which of the following statements are so related that they can not both be false, although they
may both be true?

A. All metals are gases.

B. Some metals are gases.

C. Some metals are not gases.

D. No metals are gases.

Choose the eorrect answer from the options given below:

1. A and D only
2.B and C only
3. A and B only
4. Cand D only

(1)
(2)
(3)
(4)

A W N =




fufafed 3 9 &H T $YF 39 UeR Yefid g [ 3 gl 7ad 11 81 9dd, J9iu d aiHi 98] 81 9dd
87

A 9t U 9 8

B. PO UIqU 9 g |

C. B8 41U I A8l g

D. Bl ot 41 I 8T 3|

T feu U f9seul 5 § 981 I 3
1.%ad A 3R D
2. BaaB AR C

3. ®ad A 3R B
4.%dd C 3R D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26205] Question Description : dwbv_pg_gp16_eng_2_q27
2[Option ID=26206]

3[Option ID=26207]
4[Option ID=26208]

Sl. No.28
QBID:16201028

"The last time | stretched my arms first and my legs second, | won my race, So that stretching
sequence must have increased my speed.” Which informal fallacy is committed in the above

statement?

1. Post hoc

2. False alternative

3. Hasty generalisation
4. Slippery slope

1) 1
(2) 2
3) 3
(4) 4

“Ugell aR H 30T Yot 3R gadl IR U=t 2 of e faar ok #4 sro-t € offd &1 3efag,
34 fEaE o & ®9 = o8 fd Sg1 & e

SUdad BY H B9 SFTGINSG db-aIy fhdl T 82

1.0 81
2. 7Tdd fddeg
3. HfgaR GRS

e [t

4. ﬁhﬂ-lﬂﬁgdﬂ G ([cfUlx &U)

(1) 1




(2) 2

3) 3

(4) 4

1[Option ID=26209] Question Description : dwbv_pg_gp16_eng_2_q28
2[Option ID=26210]

3[Option ID=26211]
4[Option ID=26212]

Sl. No.29
QBID:16201029

Which of the following statements is logically equivalent to the statement -* No metals are
gases'’?

1. All non-metals are gases.

2. No gases are metals.

3. No metals are non-gases.

4. All non-gases are non- metals.

1)
(2)
(3)
(4)

a5 9 oH oY dids 0 438 $Y S 990 & - Dls H Ui T 981 87

1. @l IR uqu i €

2. 313 oft g urg e R

3. B3 Wt urg RT3
4. @ R IR-uqu B

A W N R

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26213] Question Description : dwbv_pg_gp16_eng_2_q29
2[Option ID=26214]
3[Option ID=26215]
4[Option ID=26216]

Sl. No.30
QBID:16201030

According to Nyaya (classical Indian school of logic) Which fallacy is committed in the following
argument- 'Sound is eternal because it is produced’?

1. Anupasmhari
2. Sadharana

3. SvarOpasiddha
4. Viruddha

(1)
(2)
(3)
(4)

A W N R




M {1 HRAY dhRRd [GaR-986[E) & IR FEiRad g9ftd H &=yl ad-a/y 6l a1 87
" MY g Hifs Ig IUF Bl il 5"

1. ORI

2. FIYRT
3. WEUS
4. fa%g

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26217] Question Description : dwbv_pg_gp16_eng_2_q30
2[Option ID=26218]
3[Option ID=26219]
4[Option ID=26220]

Sl. No.31
QBID:16201031

Which one of the following acronyms matches incorrectly with its full form?

1. SMS- Short Message Storage

2. URL - Uniform Resource Locator
3. BLOG- weB LOG

4. VPN- Virtual Private Netwark

(1)
(2)
(3)
(4)

A W N =

fFrafeRad o 9 &1 91 uRavi e 396 I0l &0 9 ¥el gHiad 781 87

1. U9 TH UY - TME H89 €S
2.9 3R Ud - gHHH G drdex
3. &A1 - 49 AT (weB LOG)

4. d1 i U9 - 9e(d UIgde Hedm

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26221] Question Description : dwbv_pg_gp16_eng_2_q31
2[Option ID=26222]
3[Option ID=26223]
4[Option ID=26224]

Sl. No.32
QBID:16201032




Identify the correct order of the following list of stages A-E when an email is sent and received.

A. Sender's ISP mail server decides how to route the message, and the message travels over the
Internet and arrives at recipient's ISP mail server.

B. Message retrieved and sent to recipient’s computer to be opened and read.
C. The sender composes his message and activates the send command.
D. Message held in recipient's electronic mail box and recipient logs on to read his messages.

E. Message is sent to sender’s ISP mail server and this server examines address associated with
message.

Choose the correct answer from the options given below:

1.CEABD
2.A CBDE
3.0,B,.CEA
4. CEADE

(1)
(2)
(3)
(4)

fFafeRad 9ol #1 A-£ B 50 Hor 3R UId B3 B sfaeuisil & ¥gl B i fgd Hifeg

A UNS &l 318 U Ul Oef YaR [H0ig &dl & fos UE=1 1 AR &1 8RT, SR Y68 $e¥-e W ol &
YT Ul & 33 0 Ot §d 98 W Ugadl &

5. Te¥ 31 g0 gl & SR 38 Uradhal & $uel R BiaH 3R T & o O S @
C. UN® 30T Tl foradl & iR U $HIS &I 9ihy aidl g

A W N =

D. UTidhd| o Seidgli-icb Hel aled o TSR I Bicll & SR Wddhdl 30 Yo &1 Ug- @ (o1t qll
HEA B &

£ US® & TS U9 Ul He JaX R Hax 4ol 91l 3 HR U8 94X 9o¥ & 91Y g Uod 31 Wi
GG

Frd feu T faweal § 9 w8l ST
1.C,EABD
2.8 CBDE

3.0,B,.CEA
4. CEADE

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26225] Question Description : dwbv_pg_gp16_eng_2_q32
2[Option ID=26226]
3[Option ID=26227]
4[Option ID=26228]




Sl. No.33
QBID:16201033

Given below are two statements:
Statement I: (4A2F)15 = (18997)1g
Statement II: (6940)1p = (1B1C)45
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1) 1
(2) 2
3) 3
4) 4

EICEACRIC AR

DU - 1: (4A2F)15 = (18991)19

U - Il (6940)10 = (1B1C)16

Suded Bl & e | Fekifed el 3 § 98 IR 9
1. YT | 3R 1 ST T B
2. B | 3R 11 G 3 B

3. BYT | G g, dfted YT 11 A B |
4. BYF | 3EA &, dfthd HYT 1 T B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26229] Question Description : dwbv_pg_gp16_eng_2_q33
2[Option ID=26230]
3[Option ID=26231]
4[Option ID=26232]

Sl. No.34
QBID:16201034




Which of the following memory/ storage devices are considered as primary storage?
A. Removable hard disk drive

B. RAM

C. ROM

D. DVD/CD

Choose the correct answer from the options given below:

1. A and D only
2.Band D only
3. Aand C only
4.B and C only

(1)
(2)
3)
(4)

frafated 3 3 om 9@ Hia / YSRu ofdaat mufie Ysru A S g
A, RIFTGRUIE BT8 (5% S15a

B. ¥H (RAM)

A W N R

.| (ROM)

D.Sidl 8t/ E 8l

- fau 1Y fasenl & 4 98l I g :
1. ®adA SR D
2.%9d B 3R D

3. WA A AR C
4. HaaB AR C

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26233] Question Description : dwbv_pg_gp16_eng_2_q34
2[Option ID=26234]
3[Option ID=26235]
4[Option ID=26236]

Sl. No.35
QBID:16201035




Match List | with List 11

List | (Desciption)

List Il (ICT Term)

across the internet

A. Set of rules that must be obeyed when transforming files on data

. Internet Service Provider

changes each time the device connects

B. ID given to a device when it connects to the Internet; the ID

Il. Hyper Text Transfer
Protocal (HTTP)

monthly subscription

C. Company that provides the user with access to the Internet for a

ll. Media Access Control
(MAC) address

this ID rarely changes.

D. ID which uniquely identifies a device connected to the Internet;

IV, Internet Protacol (IP)
Address

TA-NMB-ILC-1,D-1
ZA-ILE-IV,C-LD-1I
A-ILB-L,C-IV,D-1l
4 A-LB-IV,C-IL,D-1N

(1)
(2)
(3)
(4)

Tl -1 B it -1 AT B -

A W N =

Choose the correct answer from the options given below:

CEIRNEER)

-1 (3115 € <1 e

A. 0T &1 98 Y=Y O] Set-e R Biedl
1 STeT WHIGIU Hid GHY 3Ha¥g 91a- &l

ELUEY

. §ed-e Hiaq
EIGIEER

B. 323 ¥ dad 994 &4l gfed @1 61 T3 315

II. BIEURCHE THHT

1[Option ID=26237]
2[Option ID=26238]

ﬁ,ﬁﬂgﬁﬁ?mﬁ@?ﬁ%ﬁ&ﬂﬁﬁ el (@ & @ )
C. 98 HU- il Wil I Ai® d¢ W 323 11 Hifsar URid dheid
ST U Hedl & @A T T3H
D. 8 313 oI il 3e3-c U 9ol g5 fobdl gfad I . o
afep w1 & Ffed o & a8 od € &l ";-{%ﬂ?m““
HUR URaRid &Il & ( e
< f&u 7 fawent € Tt I g

1.A-W,B-I,C-1, D-1I

2ZA-ILB-IV,C-1, D-1

IA-NLB-1LC-I, D-1

4. A-1,LB-IV,C-1l, D-1I
(1)1
(2) 2
3) 3
(4) 4

Question Description : dwbv_pg_gp16_eng_2_q35




3[Option ID=26239]
4[Option ID=26240]

Sl. No.36
QBID:16201036

Hydrogen produced using solar energy is called as

1. Grey hydrogen

2. Green hydrogen

3. White hydrogen

4. Torquoise hydrogen

1)1
(2) 2
3) 3
(4) 4

TR Fell & SN §RT S0d &1 41 glE g &i &l el 9l o7

1. YT BTG SIoH
2. eRa g gleA
2. 4d B gIo
4. THIZS (BRIS) TES o

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=26241] Question Description : dwbv_pg_gp16_eng_2_q36
2[Option ID=26242]

3[Option ID=26243]
4[Option ID=26244]

Sl. No.37
QBID:16201037

Match List | with List Il

List-1 (Summit/ Protocol)|List-1l (Theme/ Issue)

A. Paris Agreement |. Ozone layer

B. Kyoto Protocol Il. Human environment

C. Rio Summit [1l. Clean Development Mechanism
D. Montreal Protocol IV. Climate change issues

Choose the correct answer from the options given below:

LA-LB-ILC-IIl.D-W
Z8a-1LB =G = IV Br= |
3JA-W,B-ILC-1I,D-~|
4 A-IV,B-III,C-1I,D-1

1) 1
(2) 2
(3) 3




(4) 4

Tl -1 B gl -1 T ghfed S -

Tt -1 RReR TeieH / vieidla gt -1 fawa g5

A, Ufeg TmEian | TS 1L

B. Hel Hieidid II. A4 Ga gy

c. it Brer aweH 1. =3 9o fear-flaf
D. HifeTd Wiedid V. Sicarg UiadH & g
< fau 7 fawent € T8t IR I

TA-LB-ILC-1, D-IV
ZA-ILE-NL,C-1V, D-1
LA-IVEB-ILC-1I, D-1
4 A-IV,B-UIL,C-1l, D-1

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26245] Question Description : dwbv_pg_gp16_eng_2_q37

2[Option ID=26246]
3[Option ID=26247]
4[Option ID=26248]

Sl. No.38
QBID:16201038

Match List I with List 11

List-1 (Effect type due to sea level rise) |List-1l (Example)

A. Biogeophysical effect

|. Rehabilitation

B. Climatic effect

ll. Flooding due to sea water

C. Social effect

lll. Salt water intrusion

D. Non-climatic effect

IV. Storm changes

Choose the correct answer from the options given below:

TA-MB-I,C~-I, D~
2A-lLB-NC-1.D-1
JJA-NMB-IIlLC-1,D-1
4 A-IV,B-II,C-1,D-1
(1)
(2)
(3)
(4)

A W N =




Tdl-1 B! G-Il I GHRT DI -

- (FE AT IR P UME S UPR) [JEil-1l (T80

AN YIS THE |. garg

B. Seiarg UM II. G el & BRU 8l
C. grIfStd UHTd Il 0T o Sdde

D. IR-Sieag UHId V. SaTd uRad-

=< Teu ¢ famenl H ¥ 9el IR gL :

TA-ILB-ILC-1IV, D-1
2ZA-ILBE-IV,C-1, D-1
A-IVEB-NILC-1, D-1
4A-IV,B-UIL,C-1, D-1

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26249] Question Description : dwbv_pg_gp16_eng_2_q38
2[Option ID=26250]
3[Option ID=26251]
4[Option ID=26252]

Sl. No.39
QBID:16201039

Which of the following are removed through secondary waste water treatment process?

1. Polythene, tetra pack, etc.

2. Large suspended solids

3. Colloidal and dissolved organic matter
4. Settleable organic matters

(1)
(2)
(3)
(4)

fofafad # ¢ ford fgdias sy wia e ufshar gR1 e 9iidT 82

1. Ofciefe, Semia anfe

2. 9ed fcfad a9

3. Bidza AR faafta o9 uerd
4. TR g g g ugrd

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26253] Question Description : dwbv_pg_gp16_eng_2_q39
2[Option ID=26254]
3[Option ID=26255]
4[Option ID=26256]




Sl. No.40
QBID:16201040

Given below are two statements:

Statement I: Article 484: It is the duty of citizens of India to protect and improve the natural
environment.

Statement II: Article 51: Directive Principles of state policy are to ensure protection and
improvement of the natural Environment.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N R

DY - | : IS¢ 48U : YR o AFIRS| B I8 thaod & (o d Wil Uaiaul &f Ifard ud dafda
H

BY - | TG 51 : ol P il Fe=e Rigia wigpfae uaiazor & e ud a1 o ghiEd
RG]
U BYAl & AIcld H HRfeiad [admedl H 9 wel 3w 9 -

1. YA | AR 11 SH T T

2. YA | 3R 11 GHI 3§

3. YA | 9 &, dichd &Y 1| S B
4. YT | Y &, Al HY | T &l

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26257] Question Description : dwbv_pg_gp16_eng_2_q40
2[Option ID=26258]
3[Option ID=26259]
4[Option ID=26260]

Sl. No.41
QBID:16201041




According to NEP 2020, how much percentage of learners by 2025 through the school and higher
education system shall have exposure to vocational education?

1. 50%
2. 40%
3. 35%
4. 60%

(1) 1
(2) 2
3) 3
4) 4

73 R Aifa (@3 2020 T FTIR 2025 TF G gfo=E Afrm@ated & ey 4R I=Ew
e vl & Ares ¥ soraaie R &1 SwEE T g

1. 50 Wia=d
2. 40 Uiq=d
3. 35 Ufa=d
4. 60 U=

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26261] Question Description : dwbv_pg_gp16_eng_2_q41
2[Option ID=26262]
3[Option ID=26263]
4[Option ID=26264]

Sl. No.42
QBID:16201042

What is full form of "STARS" ?

1. Scheme for Transformational and Advanced Research in Fundamental Sciences

2. Schedule for Transdisciplinary and Advocacy Research in Framework of Society.

3. Standard for Transformational and Advanced Rights in Framework of Society.

4. Standard for Transdisciplinary and Academic Research in Fundamental Sciences.

(1)
(2)
(3)
(4)

T L HRUA. (STARS) &1 X1 10 &1 27

2. farega v eiafsfiei=<i U vsaidd! Rud 37 haad 3 gramad
3. %58 BR CUBIHTH S USds U3cd 34 hHad b e
4. %8S BR CASHwRl Us Uwetd N9d 31 balt<od dedd

A W N =

1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=26265] Question Description : dwbv_pg_gp16_eng_2_q42
2[Option ID=26266]
3[Option ID=26267]
4[Option ID=26268]

Sl. No.43
QBID:16201043

Given below are two statements:

Statement I: Distance education has replaced the formal education in India

Statement II: Distance education reduces the cost of education

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement |l is false.
4. Statement | is false but Statement Il is true.

(1) 1
2) 2
3) 3
(4) 4

EIERA AR

Y - |- HRA H I 08 7 iveie e & ot a= e g
HY - 1| gXY FRied1 18 $1 AT @1 HH Bl 8

U B & el  FraRifee el @ oh sw g

1. YT AR I G IF B

2. Y| AR 11 GF A B

3. ®YF | T &, Tfod @Y 1| ST Bl
4. BYF | HOA &, T dUF (1 A B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26269] Question Description : dwbv_pg_gp16_eng_2_q43
2[Option ID=26270]
3[Option ID=26271]
4[Option ID=26272]

Sl. No.44
QBID:16201044




What is the full form of 'NITI'?

1. National Integration for Teaching Indians

2. Non-Government Initiation for Training Institute
3. National Institution for Transforming India

4. National Identification for Technical Integration

(1)
(2)
(3)
(4)

“Hifd &1 guf &g w1 g2

1. SRFT SERH B Sl sfead

2. 7 TTE-He 3ARIGRH BR ¢ e

3. ¥Hd SIS BR SHmIET 3fsar

4, 9T He e pdHEH B caidd =

A W N =

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26273] Question Description : dwbv_pg_gp16_eng_2_q44
2[Option ID=26274]
3[Option ID=26275]
4[Option ID=26276]

Sl. No.45
QBID:16201045

During the ancient period in India which of the following places were included among the places
of learning?

A, Temples

B. Mathas

C. Basadis

D. Viharas
Choose the correct answer from the options given below:

1. A, B and D only
2. A and D only
3.A,B.Cand D
4. A, Cand D only

(1)
(2)
(3)
(4)

A W N =




HRA H W @10 & Gk HEiiad 5 9 ®F 8 =4 HEH asl | 20 97
A HfeR
B. 73
C. gHgl
D. faER
T feu 7Y fodenl 5 9 951 I g
1. ®ad A, B3R D
2.%dd A R D

2.A, B C3RD
4. BGAA, C 3R D

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=26277] Question Description : dwbv_pg_gp16_eng_2_q45
2[Option ID=26278]

3[Option ID=26279]
4[Option ID=26280]
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Read the following passage and answer the questions that follow:

In 1882 the Punjab University was established by a Special Act of Incorporation and in
1887 another Special Act of Incorporation established the fifth Indian university at Allahabad. The
general framework of these two Special Acts of Incorporation was similar to the Acts of 1857
though power was given to the Senates of the Punjab and the Allahabad Universities "to appoint
or provide for the appointment of Professor and Lecturers”- a privilege which was denied by the
Acts of Incorporation to the first three universities at Calcutta, Bombay and Madras in 1857. The
first three universities were deliberately intended to be examining universities only, in the same
manner and on the same model as the then University of London. Thereby it ignored an important
suggestion of the Education Despatch of 1854 which suggested possible institution of
“professorships for the purpose of the delivery of lectures in various branches of learning for the
acquisition of which, at any rate in an advanced degree, facilities do not now exist in other
institutions in India.” When Lahore and Allahabad got this privilege in 1882 and 1887, respectively,
The Indians had asked for its extension to Calcutta, Bombay and Madras but European officials
closely connected with the university contested it on two grounds.

frafafaa e o1 o ok 3T e ust & swv difvrg

Iy 1882 § Us faviy A sifufas gr1 e fayfaenea &t RioAr @1 718 o 3R Us g fagy
e sfafam gry v 1887 o SaEE o uied YR fayfaeray & =ime &1 713 ot 3 gl faR
e fafmdf @ 99 GRRT a¥ 1857 @ SURFEAl & 9AM © o7 gWne ueE 3R
gdrerale fayfaemaadl & FHel & "WhER 3R deaRi @ Fgidd &3 91 Fgfad &1 uradE & @
Tfaq € B¢ - 9% [ARWIER o7 o8 e Sfafadt g/ ad 1857 © daddl, 999Ul 989
R fayfaeeaal @1 ¢4 U 3A6R & faar 71 4Tl 34 ugd ol [ayfaemeal & SHags 34
AR Alsd & YR R DHad GH&T o aren faxfasmea s=mn man o1 o deq fayfaerag oaa udan
cHarern faufaeey 9Tl 39d Ao ¥ U 1854 & Ui [5¥0d & Ud Hedyyl Yoid & ToRar
@ e o1 oy g @1 fafi Trars! § SR o & 9eRd ° WhaRiR & guifad dRi &1
EY & @1 a e mar o forg I3 ol TR R [l off =0 o v o33 &1 gfaud YRa 3t o
Tt o g T8 A1 o9 dRR SR SarEe aufdeEa ®f $uR: 1882 SR 1ss7 H AU
fERmfieR e 8 U YRG! 3 Saed, are aur 9E et @1 off g8 fRmfieR 33 @
ARy oo o1 i faufaenera @ o8 w0 9§ 9o g sfuaial 4 & Rl &R 3T Ry e
|




Given below are two statements:

Statement I: All the Special Acts of Incorporation by which universities were established in India
were exactly the same.

Statement II: The first university in India to be granted the power to appeint Professor and
Lecturers was Allahabad University.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1)
(2)
(3)
(4)

A W N =

AR A AR

@ - |- GHi faRy e siftf oo gr1 yRa | fayfaeremi &1 a1 @1 1 o, f9aga
A U

DY - 11 : YRd ¥ ugel [dyfdeey, o Uibar AR drsndis (cdaid) B Fgad @ o1 HEHR
fean a1 41, 98 SaeEG [ayfaeed Uil

IUhe HYAT & S | Hieied [adhedl o 9 U8l 3w I -
1. YT 1 3R 11 GHT Fal g
2. YT | 3R 11 GFT TTad 8

3. BYT | ol &, dlith &Y 11 7Tad g |
4. BYF | 7TAd &, dfthd &Y 11 Fal B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26281] Question Description : dwbv_pg_gp16_eng_2_q46
2[Option ID=26282]
3[Option ID=26283]
4[Option ID=26284]
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Read the following passage and answer the questions that follow:

In 1882 the Punjab University was established by a Special Act of Incorporation and in
1887 another Special Act of Incorporation established the fifth Indian university at Allahabad. The
general framework of these two Special Acts of Incorporation was similar to the Acts of 1857
though power was given to the Senates of the Punjab and the Allahabad Universities "to appoint
or provide for the appointment of Professor and Lecturers”- a privilege which was denied by the
Acts of Incorporation to the first three universities at Calcutta, Bombay and Madras in 1857. The
first three universities were deliberately intended to be examining universities only, in the same
manner and on the same model as the then University of London. Thereby it ignored an important
suggestion of the Education Despatch of 1854 which suggested possible institution of
“professorships for the purpose of the delivery of lectures in various branches of learning for the
acquisition of which, at any rate in an advanced degree, facilities do not now exist in other
institutions in India.” When Lahore and Allahabad got this privilege in 1882 and 1887, respectively,
The Indians had asked for its extension to Calcutta, Bombay and Madras but European officials
closely connected with the university contested it on two grounds.

frafafaa e o1 o ok 3T e ust & swv difvrg

Ty 1882 H Ud o=y e siffgs gr1 deie fayfaenea &1 =ioA1 @1 718 o1 3R Us g fagy
e sfafam gry v 1887 o SaEE o uied YR fayfaeray & =ime &1 713 ot 3 gl faR
e fafmdf @ 99 GRRT a¥ 1857 @ SURFEAl & 9AM © o7 gWne ueE 3R
gdrerale fayfaemaadl & FHel & "WhER 3R deaRi @ Fgidd &3 91 Fgfad &1 uradE & @
Tfaq € B¢ - 9% [ARWIER o7 o8 e Sfafadt g/ ad 1857 © daddl, 999Ul 989
R fayfaeeaal @1 ¢4 U 3A6R & faar 71 4Tl 34 ugd ol [ayfaemeal & SHags 34
HR Afsd & YR R DHad GH&T o aren faxfaemea s=mn man o1 o deq fayfaerag oaa udan
cHarern faufaeey 9Tl 39d Ao ¥ U 1854 & Ui [5¥0d & Ud Hedyyl Yoid & ToRar
@ e o1 oy g @1 fafi Trars! § SR o & 9eRd ° WhaRiR & guifad dRi &1
EY & @1 a e mar o forg I3 ol TR R [l off =0 o v o33 &1 gfaud YRa 3t o
Tt o g T8 A1 o9 9RR SR SarEe [aufdeeE ®f $uR: 1882 SR 1ss7 T A
fERmfieR e 8 U YRG! 3 Saed, are aur 9E et @1 off g8 fRmfieR 33 @
ARy oo o1 i faufaenera @ o8 w0 9§ 9o g sfuaial 4 & Rl &R 3T Ry e
|

Given below are two statements:
Statement I: Allahabad University and Punjab University were established at the same time
Statement II: Bombay University and Madras University were established at the same time

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.




(1) 1
(2) 2
(3) 3
(4) 4

EIERAE U U

®YH - | : FARIEIG [ayfaeed 3R Ui f[ayfaerey ue g a9y | ®iifud feg U 4
HY - 11 - ST TagfaeTerd AR 7e fayfaarcy us 81 9Ag | R feu e 3
Iudad Byl & 3o H Fafeied fadedl H 9 w8l S g -

1. YT ARG FBl 8
2. ®YF | 3R 11 GH ITad &
3. ®YT | BBl &, dfth &Y= 11 Tad g
4. YT | 7T &, Al Y 11 Fal g

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26285] Question Description : dwbv_pg_gp16_eng_2_q47
2[Option ID=26286]
3[Option ID=26287]
4[Option ID=26288]
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Read the following passage and answer the questions that follow:

In 1882 the Punjab University was established by a Special Act of Incorporation and in
1887 another Special Act of Incorporation established the fifth Indian university at Allahabad. The
general framework of these two Special Acts of Incorporation was similar to the Acts of 1857
though power was given to the Senates of the Punjab and the Allahabad Universities "to appoint
or provide for the appointment of Professor and Lecturers”- a privilege which was denied by the
Acts of Incorporation to the first three universities at Calcutta, Bombay and Madras in 1857. The
first three universities were deliberately intended to be examining universities only, in the same
manner and on the same model as the then University of London. Thereby it ignored an important
suggestion of the Education Despatch of 1854 which suggested possible institution of
“professorships for the purpose of the delivery of lectures in various branches of learning for the
acquisition of which, at any rate in an advanced degree, facilities do not now exist in other
institutions in India.” When Lahore and Allahabad got this privilege in 1882 and 1887, respectively,
The Indians had asked for its extension to Calcutta, Bombay and Madras but European officials
closely connected with the university contested it on two grounds.

frafafEy e 31 ufey 3w i e ust & 3= i

Iy 1882 § Us faviy A sifufas gr1 e fayfaenea &t RioAr @1 718 o 3R Us g fagy
e sfafam gry v 1887 o SaEE o uied YR fayfaeray & =ime &1 713 ot 3 gl faR
e fafmdf @ 99 GRRT a¥ 1857 @ SURFEAl & 9AM © o7 gWne ueE 3R
Sdrerale fayfaemeaal & FHel & "WhER 3R deaRi @ Fgidd &3 91 Fgfad &1 uradE & @
Tfaq € B¢ - 9% [ARWIER o7 o8 e Sfafadt g/ ad 1857 © daddl, 999Ul 989
R fayfaeeaal @1 ¢4 U 3A6R & faar 71 4Tl 34 ugd ol [ayfaemeal & SHags 34
AR Alsd & YR R DHad GH&T o aren faxfasmea s=mn man o1 o deq fayfaerag oaa udan
cHarern faufaeey 9Tl 39d Ao ¥ U 1854 & Ui [5¥0d & Ud Hedyyl Yoid & ToRar
@ e o1 oy g @1 fafi Trars! § SR o & 9eRd ° WhaRiR & guifad dRi &1
Y & &1 a e mar o forg I9d ol TR R ol off & o v &3 &1 gy YRa 3t o
Tt o g T8 A1 o9 dRR SR SarEe aufdeEa ®f $uR: 1882 SR 1ss7 H AU
fERmfieR e 8 U YRG! 3 Saed, are aur 9E et @1 off g8 fRmfieR 33 @
ARy oo o1 i faufaenera @ o8 w0 9§ 9o g sfuaial 4 & Rl &R 3T Ry e
T




Identify the first three universities established in India

A. Allahabad

B. Punjab

C. Calcutta

D. Bombay

E. Madras

Choose the correct answer from the options given below:

1. A, Band Conly
2.B, Cand D only
3.C, DandEonly
4.B, D and E only

(1)
(2)
(3)
(4)

YRd H =1fia ugd dF feufaenaal &t ugam &¢
A. SRS

B. Uulld

A W N =

C. Hadl

D. G

E. HalH

A feu e faseul 4 w8l S g -

1. BaAA, B AR C
2.®ad B, C AR D
3.%aaC, D ARE
4.PaqB, D ARE

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26289] Question Description : dwbv_pg_gp16_eng_2_q48
2[Option ID=26290]
3[Option ID=26291]
4[Option ID=26292]
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Read the following passage and answer the questions that follow:

In 1882 the Punjab University was established by a Special Act of Incorporation and in
1887 another Special Act of Incorporation established the fifth Indian university at Allahabad. The
general framework of these two Special Acts of Incorporation was similar to the Acts of 1857
though power was given to the Senates of the Punjab and the Allahabad Universities "to appoint
or provide for the appointment of Professor and Lecturers”- a privilege which was denied by the
Acts of Incorporation to the first three universities at Calcutta, Bombay and Madras in 1857. The
first three universities were deliberately intended to be examining universities only, in the same
manner and on the same model as the then University of London. Thereby it ignored an important
suggestion of the Education Despatch of 1854 which suggested possible institution of
“professorships for the purpose of the delivery of lectures in various branches of learning for the
acquisition of which, at any rate in an advanced degree, facilities do not now exist in other
institutions in India.” When Lahore and Allahabad got this privilege in 1882 and 1887, respectively,
The Indians had asked for its extension to Calcutta, Bombay and Madras but European officials
closely connected with the university contested it on two grounds.

frafafaa e o1 o ok 3T e ust & swv difvrg

Ty 1882 H Ud o=y e siffgs gr1 deie fayfaenea &1 =ioA1 @1 718 o1 3R Us g fagy
e sfafam gry v 1887 o SaEE o uied YR fayfaeray & =ime &1 713 ot 3 gl faR
e fafmdf @ 99 GRRT a¥ 1857 @ SURFEAl & 9AM © o7 gWne ueE 3R
gdrerale fayfaemaadl & FHel & "WhER 3R deaRi @ Fgidd &3 91 Fgfad &1 uradE & @
Tfaq € B¢ - 9% [ARWIER o7 o8 e Sfafadt g/ ad 1857 © daddl, 999Ul 989
R fayfaeeaal @1 ¢4 U 3A6R & faar 71 4Tl 34 ugd ol [ayfaemeal & SHags 34
HR Afsd & YR R DHad GH&T o aren faxfaemea s=mn man o1 o deq fayfaerag oaa udan
cHarern faufaeey 9Tl 39d Ao ¥ U 1854 & Ui [5¥0d & Ud Hedyyl Yoid & ToRar
@ e o1 oy g @1 fafi Trars! § SR o & 9eRd ° WhaRiR & guifad dRi &1
EY & @1 a e mar o forg I3 ol TR R [l off =0 o v o33 &1 gfaud YRa 3t o
Tt o g T8 A1 o9 9RR SR SarEe [aufdeeE ®f $uR: 1882 SR 1ss7 T A
fERmfieR e 8 U YRG! 3 Saed, are aur 9E et @1 off g8 fRmfieR 33 @
ARy oo o1 i faufaenera @ o8 w0 9§ 9o g sfuaial 4 & Rl &R 3T Ry e
|




Given below are two statements, one is labelled as Assertion (&) and the other is labelled as
Reason (R).

Assertion (A): When Calcutta University was established, it was also granted the power to appoint
Professors and Lecturers.

Reason (R): Education Despatch of 1854 suggested the possible institution that could appoint
Professors.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both (A) and (R) are correct and (R} is the correct explanation of (A).

2. Both (A) and (R) are correct and (R) is NOT the correct explanation of [A).
3. (A) is correct but (R) is not correct.

4, (&) is not correct but (R) is correct.

(1) 1
) 2
3) 3
(4) 4

Jd I HYH GUTE : Td Bl AYHYH (A) HR G B a (R) Bel T &

HYBY (A) : T8 Dol (AU B R g3 41 df 38 WhERi AR Wl (@) B
e e @ e o S s

dd (R) : TY, 1854 & Uolh ¥ 509 H WOl &1 Fgfad @3- arell Suifad Y= &1 g=ia fean mn
T

Sudd Yl & el | FHifed el § 4 981 W g -

1. (A) 3R (R) THT TE1 & 3R (R), (A) BT TEI ATSAT B |
2. (A) 3R (R aﬁfﬂ@%ﬂﬁ )ﬁﬂﬁw@rqﬁﬁl
3. (A) FEI B IR R}ﬂﬁﬂ%‘r%‘fl
4. (A) T2 T & R (R) Wel &
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=26293] Question Description : dwbv_pg_gp16_eng_2_q49
2[Option ID=26294]
3[Option ID=26295]
4[Option ID=26296]
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Read the following passage and answer the questions that follow:

In 1882 the Punjab University was established by a Special Act of Incorporation and in
1887 another Special Act of Incorporation established the fifth Indian university at Allahabad. The
general framework of these two Special Acts of Incorporation was similar to the Acts of 1857
though power was given to the Senates of the Punjab and the Allahabad Universities "to appoint
or provide for the appointment of Professor and Lecturers”- a privilege which was denied by the
Acts of Incorporation to the first three universities at Calcutta, Bombay and Madras in 1857. The
first three universities were deliberately intended to be examining universities only, in the same
manner and on the same model as the then University of London. Thereby it ignored an important
suggestion of the Education Despatch of 1854 which suggested possible institution of
“professorships for the purpose of the delivery of lectures in various branches of learning for the
acquisition of which, at any rate in an advanced degree, facilities do not now exist in other
institutions in India.” When Lahore and Allahabad got this privilege in 1882 and 1887, respectively,
The Indians had asked for its extension to Calcutta, Bombay and Madras but European officials
closely connected with the university contested it on two grounds.

frafafEy e 31 ufey 3w i e ust & 3= i

Iy 1882 § Us faviy A sifufas gr1 e fayfaenea &t RioAr @1 718 o 3R Us g fagy
e sfafam gry v 1887 o SaEE o uied YR fayfaeray & =ime &1 713 ot 3 gl faR
e fafmdf @ 99 GRRT a¥ 1857 @ SURFEAl & 9AM © o7 gWne ueE 3R
Sdrerale fayfaemeaal & FHel & "WhER 3R deaRi @ Fgidd &3 91 Fgfad &1 uradE & @
Tfaq € B¢ - 9% [ARWIER o7 o8 e Sfafadt g/ ad 1857 © daddl, 999Ul 989
R fayfaeeaal @1 ¢4 U 3A6R & faar 71 4Tl 34 ugd ol [ayfaemeal & SHags 34
AR Alsd & YR R DHad GH&T o aren faxfasmea s=mn man o1 o deq fayfaerag oaa udan
cHarern faufaeey 9Tl 39d Ao ¥ U 1854 & Ui [5¥0d & Ud Hedyyl Yoid & ToRar
@ e o1 oy g @1 fafi Trars! § SR o & 9eRd ° WhaRiR & guifad dRi &1
Y & &1 a e mar o forg I9d ol TR R ol off & o v &3 &1 gy YRa 3t o
Tt o g T8 A1 o9 dRR SR SarEe aufdeEa ®f $uR: 1882 SR 1ss7 H AU
fERmfieR e 8 U YRG! 3 Saed, are aur 9E et @1 off g8 fRmfieR 33 @
ARy oo o1 i faufaenera @ o8 w0 9§ 9o g sfuaial 4 & Rl &R 3T Ry e
T




Given below are two statements:
Statement I: University of London was an examining university only.

Statement II: All suggestions of Education Despatch of 1854 were accepted when University of
Madras was established.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1)
(2)
(3)
(4)

HY - | : e [ayfdaTeg s UHie - aran fayfaeray i

T - |1 : ofE HEY [Gyfaener &1 oA g3 1 99 1854 & UahaH (5304 & O gd WIeR 32
feg e a
Ul Byl & Hcie J Hufaiad [deedl # 4 98 w9 -

1. Y| 3R 1 SH TR B

2. %Y | 3R 11 GHI TTad B

3. TYT | Gl &, Tich] S 11 TTad g |
4. TYF | 7104 &, Tfce] &Y 11 Fal B

A W N =

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26297] Question Description : dwbv_pg_gp16_eng_2_q50
2[Option ID=26298]
3[Option ID=26299]
4[Option ID=26300]

Paper II : 3-Philosophy
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According to the charvakas water flows downward because of :

1. The Law of gravitation
2. The movement of earth
3. The shape of the earth
4. The nature of water

(1)
(2)
(3)
(4)

Traid &R & IR UHT SR (- @ 3R) 8dl § -
1. TTS@IBYY & 99 & BRUI
2. gl B i & PRI

3. Q] & SHHR P HRUI
4. Ul & GHIG (Wid) D BRI

A W N R

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25301] Question Description : dwbv_pg_phl_eng_2_q1
2[Option ID=25302]
3[Option ID=25303]
4[Option ID=25304]

Sl. No.2
QBID:3002

According to which school Smrti is a pramana

1. Nyaya

2. Mimamsa
3. Jaina

4. Sarhkhya

(1)
(2)
(3)
(4)

fg TeM (@) @ F9R Fid Th UH0 & S0 H A1 32

A W N R

1. 9919
2. 9mign

3.9
4. Hieg

(1) 1
(2) 2
3) 3




(4) 4

1[Option ID=25305] Question Description : dwbv_pg_phl_eng_2_q2
2[Option ID=25306]
3[Option ID=25307]
4[Option ID=25308]

Sl. No.3
QBID:3003

Which type of abhava is the abhdva of a pot on the ground at this moment according to the Vaisesikas?

1. Atyantabhdva
2. Pragabhava

3. Dhvamsabhava
4. Anyonyabhava

1)
(2)
3)
(4)

RMDT & STUR 39 &0 H YfH T 9 BT 3T [0 YHR BT 3141 87

A W N R

1. HI<IHE
2. UFTHIE

3. HHE
4. ARITHE

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25309] Question Description : dwbv_pg_phl_eng_2_q3
2[Option ID=25310]
3[Option ID=25311]
4[Option ID=25312]

Sl. No.4
QBID:3004

Which system holds the view that jfidna is intrinsically valid but its invalidity is due to extraneous conditions?

1. Sarhkhya
2. Bauddha
3. Mimarnsa
4. Jaina

1)
(2)
(3)
(4)

A W N R




Foifdrd i &2i- UUa™ @1 U8 Ad & & 919 Wa: UAId Bidl 8 fdhg S9! SuHT0gd sTel SUITY (SHawl) & HRU Bldl 6 ?

1. 9=
2.91%
3. "
4.5

(1)
(2)
(3)
(4)

A W N R

1[Option ID=25313] Question Description : dwbv_pg_phl_eng_2_q4
2[Option ID=25314]
3[Option ID=25315]
4[Option ID=25316]

Sl. No.5
QBID:3005

Who holds the view that the jidta, jiieya and jfiGna are simultaneously revealed in every act of cognition?

1. Kumarila
2. Prabhakara
3. Gautama
4. Kapila

(1)
(2)
(3)
(4)

A W N =

i ¥ © f59® 78 0d & & 9197, 39 18 I, T9F & W@ J9eR (@) ¥ UG (Wedlias €U H) Iec aid & ?
1. ARG

2. THTHT
ERIIGE
4. ®Igd

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25317] Question Description : dwbv_pg_phl_eng_2_q5
2[Option ID=25318]
3[Option ID=25319]
4[Option ID=25320]
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By which sannikarsa according to Nyaya, do we perceive the relation between a pen and its colour?

1. Sarnyoga

2. IJiianalaksana

3. Samanyalaksana
4, Visesanatd

(1) 1
(2) 2
3) 3
4) 4

0 g2 & HUR 6 ey & T U g fod & Ud 39¢ IS T dY &1 Uda &3d & 2

1. FTAT
2. &

3. GHFITE
4, fagyorar

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25321] Question Description : dwbv_pg_phl_eng_2_q6
2[Option ID=25322]

3[Option ID=25323]
4[Option ID=25324]

Sl. No.7
QBID:3007

Given below are some statements. Consider them and select the code that signifies correct statements only.
A. Asatkdryavada is upheld by Sarhkhya

B. Anvitabhidhanavada is upheld by Prabhakara

C. Asatkhyativada is upheld by Vasubandhu

D. Sabdanityatvavada is upheld by Mimarmsa

Choose the correct answer from the options given below:

1. A and B enly.

2.B and D only.

3. A, Band Conly.

4. A, B, Cand D only.

1) 1
) 2
(3) 3
(4) 4




HId % By R €1 39 W fadR ST 3R 39 & &l HU Sl dad Ug! &y ol HeUd ddl o
A. 394 FHAIG T ERT AT &
B. SHf-EdIHEMaNG UHI® gRT A &
C. 3 BHIIAIE TS R A g
D. TGHAGdIE S gRI A 2
i feu e fowenl H 9 981 9w 9
1.%qd A AR B
2.5ad B AR D

3. PadA, B AR C
4, BAAA, B, C 3R D

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25325] Question Description : dwbv_pg_phl_eng_2_q7
2[Option ID=25326]
3[Option ID=25327]
4[Option ID=25328]

Sl. No.8
QBID:3008

Which type of hetvabhdsa is committed by the anumana : Sabdah nityah $abdatvat?

1. Sadharana savyabhicédra
2. Asadhdarana savyabhicara
3. Svardpasiddha

4. Asrayasiddha

(1)
(2)
(3)
(4)

M H (68 USR I edlHHE o Wea: Hd: Mgl ?

A W N =

1. YIYRU TANER
2. UIYRY GAER
3. WEUS

4. HHATES

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25329] Question Description : dwbv_pg_phl_eng_2_q8
2[Option ID=25330]




3[Option ID=25331]
4[Option ID=25332]

Sl. No.9
QBID:3009

Which one among the following is not a kind of ‘klesa' in Pdtafjali yoga?

1. Nidra
2. Asmita
3. Raga
4. Dvesa

(1)1
(2) 2
3) 3
(4) 4

Fofaiad 4 ¥ &F te Tdud & Of H 0 &1 U6 UeR A8l § 7

1. 1=
2. i
3. 3

459

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=25333] Question Description : dwbv_pg_phl_eng_2_q9
2[Option ID=25334]

3[Option ID=25335]
4[Option ID=25336]

Sl. No.10
QBID:3010

In Nyaya epistemology, we perceive a snake for a rope by :

1. Samyoga sannikarsa

2. Samanyalaksana sannikarsa
3. JAanalaksana sannikarsa

4. Samavaya sannikarsa

(1) 1
(2) 2
3) 3
(4) 4




=g, T Fgifesd 5 9 fhws gR1 g Bl 3] H U &1 Uda gidi o 7

1. TONT Wiy

2. GEIAE0 GEdy
3. FHEAET UEDY
4. gHa™ Iy

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25337] Question Description : dwbv_pg_phl_eng_2_q10
2[Option ID=25338]

3[Option ID=25339]
4[Option ID=25340]

SI. No.11
QBID:3011

Anyonyaprativimbavada is upheld by:

1. lsvarakrsna

2. Vijfianabhiksu
3. Vacaspati Misra
4. Kapil

(1) 1
(2) 2
3) 3
(4) 4

SyfdfeEarE & T faa fear g 2

1. SRR

2. fagmtig

3. arafd Y
4. ®iUd

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25345] Question Description : dwbv_pg_phl_eng_2_q11
2[Option ID=25346]

3[Option ID=25347]
4[Option ID=25348]

Sl. No.12
QBID:3012




By which sense-organ do we perceive external substances?

1. Visual sense-organ

2. Tactual sense-organ

3. Both visual sense-organ and tactual sense-organ
4. Visual, tactual and internal sense-organ

(1)
(2)
(3)
(4)

A W N R

frifeed frg 15 1 &5 a1 i &1 SYd Bidl & 2

1. Jgdifsa

2. i

3. Jefdifsa ud Wi, gt

4, T1&(Y, %) U HidRe FHET

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25349] Question Description : dwbv_pg_phl_eng_2_q12
2[Option ID=25350]
3[Option ID=25351]
4[Option ID=25352]

Sl. No.13
QBID:3013

Which one is the asamavayikdrana of jiana in Nyaya epistemology?

1. Atma

2. Atmamanosarhyoga

3. Indriyamanasariyoga
4. Atma-indriya sarhyoga

(1)
(2)
(3)
(4)

A W N =

< FHUHN & HTUR DIH-U1 U §H S SAHdRIBRU § ?

1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=25353] Question Description : dwbv_pg_phl_eng_2_q13
2[Option ID=25354]
3[Option ID=25355]
4[Option ID=25356]

Sl. No.14
QBID:3014

According to the Vaisesikas, kdarya is :

1. Dharhsabhdava pratiyogt
2. Anyonyabhava pratiyogt
3. Atyantabhava pratiyogt

4. Pragabhdava pratiyogt

1)
(2)
(3)
(4)

A W N R

RIS ARl & ISR P & :

1. s@ETHTE Uiaantt
2. HTTE wigant
3. =Yg Ufaani
4. URTHTE Ufqarf

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25357] Question Description : dwbv_pg_phl_eng_2_q14
2[Option ID=25358]
3[Option ID=25359]
4[Option ID=25360]

Sl. No.15
QBID:3015




Which among the following runs under the guidance of rta?
A. Courses of natural phenomena

B. Alteration of day and night

C. Domain of human behaviour

D. Regular movements of rivers

Choose the correct answer from the options given below:

1. A only.

2. A and B only.

3. A, Band Conly.

4. A, B, Cand D only.

(1)
(2)
(3)
(4)

A W N =

fFofeRad o 9 $H-91 $d & M3 & 3fdiid G s1e 2
A. THiTe URGEIST BT Uy

. f&1 3R 31 @1 faded

C. T4 HaeR B H44F

D. AAieTl BT Faffd Taer

g fGu T famedl H © 9ad Iugad IR &1 98- Bife :

1. ®Bad A

2. %ad A AR B
3.HaAA, B AR C
4.A B, C3RD

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25361] Question Description : dwbv_pg_phl_eng_2_q15
2[Option ID=25362]
3[Option ID=25363]
4[Option ID=25364]

Sl. No.16
QBID:3016




Which dharma/s among the following is/are NOT jati in Vaisesika metaphysics?
A Akasatva

B. Gotva

C. Dravyatva

D. Udbhutatva

Choose the correct answer from the options given below:

1. A only.

2.B and C only.
3. A and C only.
4. A and D only.

(1)
(2)
(3)
(4)

A W N =

it aeari 7 FEfRed § 9 eH-ay e afa T 8/ 8 2
A. PTG

B. @

C. zdlcd

D. 3GYdd

il fau U fasedl H € Hel 3u) &1 95 B -

1. ®Bad A

2. %aaB AR C
3. HIAA 3R C
4.FaAAARD

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25365] Question Description : dwbv_pg_phl_eng_2_q16
2[Option ID=25366]
3[Option ID=25367]
4[Option ID=25368]

Sl. No.17
QBID:3017




Which among the following is/ are means of Saktigraha?
A. Aptavakya

B. Tatparya

C. Vrdhavyavahara

D. Tarka

Choose the correct answer from the options given below:

1. A and B enly.
2. A and C only.

3. A only.

4. A, B and D only.

(1) 1
(2) 2
(3) 3
4) 4
Fifera | ¥ 9fdaus &1 ey $H-a1 g2

A, AT
B. ATy

C. IEHTR

D. T

< feu U fosenl 5 9 951 I 2
1. DA A SR B
2.%ad A IR C

3. Had A
4.Had A, B 3R D

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25369] Question Description : dwbv_pg_phl_eng_2_q17
2[Option ID=25370]
3[Option ID=25371]
4[Option ID=25372]

Sl. No.18
QBID:3018




According to Raméanuja, Aprthak Siddhi is a relation between :
A. Brahman and jiva only

B. Brahman and jagat only

C. Brahman and jiva and Brahman and jagat only

D. Jiva and jagat only

Choose the correct answer from the options given below:

1. A only.
2. B only.
3. Conly.
4. D anly.

(1)
(2)
(3)
(4)

A W N =

A @ IIER, w79 3yyD s o1 99y Bl 57
A. ©9d 5 Ud Slq |
5. Bhacl §el U4 o H
C. ad el AR W9 Ud s 3R ord d
D. ®dd ild Ud WFTd |
14 feu e fowenl H 9 981 9w 9 :
1. ®ad A
2. %au B

3.%adC
4.Hdd D

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25373] Question Description : dwbv_pg_phl_eng_2_q18
2[Option ID=25374]
3[Option ID=25375]
4[Option ID=25376]

Sl. No.19
QBID:3019




In Parva Mimamsa, the point of difference between the Kumarila and the Prabhakara Schools is, with regard to

1. Authority of the Viedas

2. Intrinsic nature of knowledge
3. Nature of Vidhi

4. Khyativada

(1)
(2)
(3)
(4)

A W N R

ud Hiwia H, Fwifed | ¥ ue g6y § $HId Ud WHIER el [ marsd) & 39 i 82

1. dal @I Tl

2. §H &I Td: THId
3. fafér &t uspfa

4. JIfqang

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25377] Question Description : dwbv_pg_phl_eng_2_q19
2[Option ID=25378]
3[Option ID=25379]
4[Option ID=25380]

Sl. No.20
QBID:3020

Match List | with List I

List | List Il

A. Caitanya is the guna of the self l. Vedanta
B. Caitanya is an dgantuka guna of the self|ll. Nyaya

C. Caitanya is bliss 1. Jaina

D. Caitanya is epiphenomenon IV. Charvaka

Choose the correct answer from the options given below:

TA-ILB-ILC-1,D-1IV
2ZA-LB-ILC-ILD-1V
JA-ILB-NLC-1,D-1IV
4A-IV,B-UILC-I,D-1

(1)
(2)
(3)
(4)

A W N =




Tl -1 B gl -1 T ghfed S -

T - Il
A. T HTH BT 0T 5 | daid
B. I HIAT BT HRTID [0 ¢ | I =g
C. 9940 A= B . 54
D. dd-d 3geAT (Ufdha) & v, Irdi®
< fau 7 fawent € T8t IR I

TA-IILB-II,LC-I, D-1V
2ZA-LB-ILC-I, D-IV
LA-ILB-NLC-1, D-IV
4A-IV,B-UIL,C-1l, D-1

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25381] Question Description : dwbv_pg_phl_eng_2_q20
2[Option ID=25382]
3[Option ID=25383]
4[Option ID=25384]

Sl. No.21
QBID:3021

Write the correct sequence with reference to the states of experience:
A. Prajfa

B. Advaita

C. Taijasa

D. Vaiswanara

Choose the correct answer from the opticns given below:

1T.ABCD
2.D,CAEB
3.B.ADC
4.C.D B A

(1)
(2)
(3)
(4)

A W N =




YA D1 e & gaH J 98l #gHH g
AR
B. 31gd
C.dug
D. 3R
i feu e fowenl H 9 981 9w 9
1.A,B,C D
2.D,C,AB

3.BADC
4.C,D, B A

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25385] Question Description : dwbv_pg_phl_eng_2_q21
2[Option ID=25386]
3[Option ID=25387]
4[Option ID=25388]

Sl. No.22
QBID:3022

"To say that there could be nirguna Brahman is like the dumb saying that he is dumb”. Whose saying is this?

1. R&manujacharya
2. Sarhkaracharya
3. Madhvacharya
4. Vacaspati Misra

(1)
(2)
(3)
(4)

"Tg Sl [d 101 §el 51 9ddl &, 98 3iad 171 & 39 HY- & GHH & [ ag P g "
ug pus! I 87

1. AR

2. X

3. g™
4. It iy

A W N R

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25389] Question Description : dwbv_pg_phl_eng_2_q22




2[Option ID=25390]
3[Option ID=25391]
4[Option ID=25392]

Sl. No.23
QBID:3023

According to whom God (Isvara) is the cause of bondage as well as the liberation of the individual self?

1. Sarhkaracharya
2. Madhvacharya
3. Kanada

4. Mahavira

(1)
(2)
(3)
(4)

FafeRad feud oguR fdl safda & U Td Jig &1 SRU SR 87
1. QB
2. A

3. ®UMG
4. TEER

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25393] Question Description : dwbv_pg_phl_eng_2_q23
2[Option ID=25394]
3[Option ID=25395]
4[Option ID=25396]

Sl. No.24
QBID:3024

The distinction between Svartpa jidna and Vit jiidana is drawn by

1. Kumarila Bhatt
2. Sarhkaracharya
3. Prabhéakara

4. Madhvacharya

(1)
(2)
(3)
(4)

WU §H T4 i 99 & A [ave Faifed [ue gr fea mrg?

1. DA HE
2. g™

3. THIER
4. AEEE

A W N =




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25397] Question Description : dwbv_pg_phl_eng_2_q24
2[Option ID=25398]

3[Option ID=25399]
4[Option ID=25400]

Sl. No.25
QBID:3025

Which one of the following pairs does not constitute the spiritual wealth, according to Advaita Vedanta?

1. Sama and dama

2. Uparati and titiksa

3. Samadhana and Sraddha
4. Avidya and Maya

(1) 1
(2) 2
3) 3
4) 4

Had dard & IUR, Fufafed § 3 -9 W 1eEd Ugidl (GUaN) & SR A8 &l 87

1.¥HUdGH

2. IURfd ud fafaan
3. FHYE UG gl
4, faer ud |Hman

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25401] Question Description : dwbv_pg_phl_eng_2_q25
2[Option ID=25402]

3[Option ID=25403]
4[Option ID=25404]

Sl. No.26
QBID:3026




According to Leibniz what is true of the following?

A. Earthquake is an evil

B. Epidemic is an evil

C. Evil has a place in the total scheme of things created by God
D. This world is the best of all the possible worlds

Choose the correct answer from the options given below:

1. A only.
2. B only.
3. Conly.
4. C and D only.

(1)
(2)
(3)
(4)

A W N =

TIgse & YR FHHiied § S M TEIE 2
A U HLH BT
B. HEMHRI %Y il &
C. S ERI Yiord T gy o gy &1 =H 8
D. TE Wiq i €4 w7a!  gaiod ¢
14 feu e fowenl H 9 981 9w 9 :

1. ®ad A

2. %au B

3.%adC
4.Hdd C AR D

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25405] Question Description : dwbv_pg_phl_eng_2_q26
2[Option ID=25406]
3[Option ID=25407]
4[Option ID=25408]

Sl. No.27
QBID:3027




‘One idea cannot perceive another idea. Therefore there should be a Self which perceives ideas'
This is applicable to

1. R. Descartes

2. G. Berkeley

3. Hume David

4. Berkeley and Hume

(1)
(2)
(3)
(4)

T Wedd © GHY Uy &1 U&Ul a1 61 9odl & | U Hedd & Wedaivl o oY dig Sl gi- dleul’

A W N =

08 Fgifea o U e u uar g 2
1. 3@
2. g oIl
3. g0 sfas
4. ghd AR ggH

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25409] Question Description : dwbv_pg_phl_eng_2_q27
2[Option ID=25410]
3[Option ID=25411]
4[Option ID=25412]

Sl. No.28
QBID:3028

‘It is necessary to regard unperceived substratum as the support of qualities'. Whose view is this?

1. R. Descartes

2. ). Locke

3. Locke and Berkeley
4, Locke and Hume

(1)
(2)
(3)
(4)

A W N =

YA JURR &I 0N B gt U] H[GRGS ¢ | T [bddl 0d o7
1. SP
2.5 dld
3. Al 3R g
4, Tl AR gH




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25413] Question Description : dwbv_pg_phl_eng_2_q28
2[Option ID=25414]

3[Option ID=25415]
4[Option ID=25416]

Sl. No.29
QBID:3029

‘There are secondary qualities like colour, odour, sound, taste etc. we are aware of them only through a particular sense
organ'. This is the view of :

1. Berkeley

2. Locke

3. Spinoza

4. Berkeley and Locke

(1)
(2)
(3)
(4)

A W N R

U, 7y, @i, W0e, e Bidud Gdad ek &1 e fodt gau fadu & 91em 48 5o e § ual gadl 81" 98
Faifsad dfead ads 2

1.9 g&d

2. S dld

3. TSR A

4. S1sl 9o 3R SiH Al

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25417] Question Description : dwbv_pg_phl_eng_2_q29
2[Option ID=25418]
3[Option ID=25419]
4[Option ID=25420]

Sl. No.30
QBID:3030

‘Oak tree is potentially there in the Qak seed. Under favourable circumstances it becomes actual’. This view is held by
whom?

1. Plato

2. Socrates

3. Aristotle

4. Plato and Aristotle

(1) 1
(2) 2
(3) 3




(4) 4

g9 g4 TYad: d9d & & H BidT 8, 3jea uRfRfd & 98 avafdd gl 9d1 81 98 foud a3

1. et

2. g
3. 3RE
4. w2 3R 3R

1)1

(2) 2

(3) 3

(4) 4

1[Option ID=25421] Question Description : dwbv_pg_phl_eng_2_q30
2[Option ID=25422]

3[Option ID=25423]
4[Option ID=25424]

Sl. No.31
QBID:3031

Match List | with List 11

List | List 11

A. Pythagoras |I. Being

B. Parmenides |Il. Number

C. Heraclitus |lll. Doctrine of four elements

D. Empedocles|IV. Fire

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-1l
2ZA-IV,B-UIL,C-I,D-1
A-ILB-LC-IV,D-1
4 A-LB-ILC-ILD-1V

1) 1
) 2
3) 3
(4) 4




- -1l

A, TEYNTRY . fETa

B. URHfASH |1 =T

C. gifgaey III. IR dedl &I Fagid
D. THISIH el .

= f&u U faweat o ¥ T8 IR gL

TA-IILBE-IV,C-I, D-1l
2ZA-IV,B-UI,C-1l, DI
3A-IL,B-1,C-1V, DI
A A-1,B-1Il,C-1Ull, D-1IV

(1)
(2)
(3)
(4)

A W N &

1[Option ID=25425] Question Description : dwbv_pg_phl_eng_2_q31
2[Option ID=25426]
3[Option ID=25427]
4[Option ID=25428]

Sl. No.32
QBID:3032

The doctrine of parallelism of attributes, as a solution to the problem of evil, is advocated by:

1. Leibniz

2. Baruch Spinoza
3. Rene Descartes
4. George Berkeley

(1)
(2)
(3)
(4)

a3 9 S =Y T & 84 & ¥ 8 70T @t Yarfear fsid & e 87

1. S ES
2.
3. 50
4. 95d

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=25429] Question Description : dwbv_pg_phl_eng_2_q32
2[Option ID=25430]
3[Option ID=25431]
4[Option ID=25432]




Sl. No.33
QBID:3033

"Mumbers are the primary causes of things,” who holds this view?

1. Heraclitus
2. Parmenides
3. Thales

4. Pythagoras

1 1
(2) 2
3) 3
(4) 4

"R TEI3 @ U SRS ¢ 1° T8 foud 7d &

1. gUfaeed
2. UREMSY
3. 4

4. TYFIRY

1)
(2)
3)
(4)

A W N B

1[Option ID=25433] Question Description : dwbv_pg_phl_eng_2_q33
2[Option ID=25434]
3[Option ID=25435]
4[Option ID=25436]

Sl. No.34
QBID:3034

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reasaon (R).
Assertion (A): Monads are neither influence nor be influenced

Reason (R): Monads are windowless

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.

2. Both A and R are true but R is NOT the correct explanation of A.
3. Ais true but R is false.

4. Ais false but R is true.

(1) 1
(2) 2
(3) 3
(4) 4




TRTFERUTE: 1@ o HiFHY (A) 3R TR &1 a6 (R) Hel T2
SHEHYA (A) : TG = o yuIfdd & 8 A I guIfdd gid €|

R) :ferq] TaTeRTed Bld &1
Sude HY o 3Meild H Fgifed fddeal d 9§ 981 ST -

1. (A) AR (R) THT L1 & 3R (R), () P TE1 ATBAT B |
2. (A) 3R (R aﬁfﬂ@%ﬂﬁ )ﬁﬂﬁw@rqﬁﬁl
3. (A) BRI B IR R}ﬂ?ﬁ%ﬁ‘%l
4. (A) T2 T8 & R (R) Wl B
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25437] Question Description : dwbv_pg_phl_eng_2_q34
2[Option ID=25438]
3[Option ID=25439]
4[Option ID=25440]

Sl. No.35
QBID:3035

Who among the following ascribed Nous for the first time in Greek Philosophy?

1. Heraclitus
2. Anaxagoras
3. Empedocles
4. Thales

(1) 1
(2) 2
3) 3
4) 4

AT 52 # gduyd ST @ 41 Fgifed & @ 5 9 6

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25441] Question Description : dwbv_pg_phl_eng_2_q35
2[Option ID=25442]

3[Option ID=25443]
4[Option ID=25444]

Sl. No.36
QBID:3036




What is incarrect a

1. St. Anselm is
2. 5t. Anselm is
3. St. Anselm is
4. 5t. Anselm fa

(1) 1
(2) 2
3) 3
4) 4

s far as St. Anselm is concerned?

opposed to nominalism

Supporter of Scholastic Realism

known for his celebrated proofs for the existence of God
ils to rationalise the faith

T Ty & 99y § 71 0d 87
1. He toe THHeEH & 3% B

2. He ey fagare arafabadg & 99d® gl
3. Y THc 2R & Ha @l & & & (oY 3u Sgafdd WHv & [T Temd 6|
4. Ye TUT T &1 gigagad - | w6

1)
(2)
3)
(4)

A W N =

1[Option ID=25445]
2[Option ID=25446]
3[Option ID=25447]
4[Option ID=25448]

Question Description : dwbv_pg_phl_eng_2_q36

Sl. No.37
QBID:3037

Match List | with List 11

List

List Il

A. Rene Descartes

. Pre-established harmony

B. BaruchSpinoza

Il. Representative Theory of Perception

C. Leibniz

. Mind-body dualism

D. John Locke

IV, Parallelism of attributes

Choose the correc

TA-IVB-1I,
2A-ILB -1V,
LA-LB-ILC
4.A4-1LE-IC

(1)1

(2) 2

3) 3

(4) 4

t answer from the options given below:

C-I,D-1
C-,D-1
LD -1V
LD -1V




Tl -1 B gl -1 T ghfed S -

T - -0

A BB |. gd R0 werg

B. SR AT II. U&UT 1 UidfeTes Rigid
C. Aga I, TT9-HTT 4ddIG

D. | Tl V. 70T @1 FHHIROT

< fau 7 fawent € T8t IR I

TA-IWMB-NIL,C-1l, D-1
2ZA-ILBE-IV,C-1, D-1
LA-1L,B-II,C-UI, D-1V
4A-ILE-LC-I, D-IV

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25449] Question Description : dwbv_pg_phl_eng_2_q37
2[Option ID=25450]
3[Option ID=25451]
4[Option ID=25452]

Sl. No.38
QBID:3038

What is acceptable to Leibnitz?

1. Monads are mathematical points
2. Monads are physical points

3. Monads are centres of force

4. Monads are inactive

(1)
(2)
(3)
(4)

aREH B P T 9 @ e 8
1. Faquy nftrdia feg &1
2. fagu ifa® fag &)
3. QU 0 & $= &
4. fagu AfSrT Bid B

A W N =

(1)
(2)
(3)
(4)

A W N &

1[Option ID=25453] Question Description : dwbv_pg_phl_eng_2_q38
2[Option ID=25454]
3[Option ID=25455]
4[Option ID=25456]




Sl. No.39
QBID:3039

Match List | with List 11

List | List Il

A. David Hume l. Immaterialism

B. Immanuel Kant |Il. Refutation of innate ideas

C. John Locke l1l. Scepticism

D. George Berkeley|IV. Critical Philosophy

Choose the correct answer from the options given below:

TA-NMB-ILC-,D-1l
ZA-ILB-IV,C-Il,D-1
A-LB-ILC-U,D-1IV
4L A-ILE-LC-IV,D-1I

1)
(2)
(3)
(4)

A W N R

Tl -1 B gt -1l H G B -

Tl -| i -1

A Sfas ggH . i ifddarg

B. BT 1, 3T U BT S
c S atE 111, HEgdiG

D. Sifs gt . HTEAEHTED 68

g feu e fawedl H ¥ 98l S g :

TA-WB-NIL,C-I, D-1l
ZA-ILBE-IV,C-Il, D-1
LA-1L,B-II,C-UI, D-1V
4A-ILE-LC-IV, D-1I

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25457] Question Description : dwbv_pg_phl_eng_2_q39
2[Option ID=25458]
3[Option ID=25459]
4[Option ID=25460]

Sl. No.40
QBID:3040




Match List | with List 11

List | List 11
A. Plato  |I. Knowledge is impossible
B. Aristotle|ll. All ideas are timeless and spaceless

C. Socrates|lll. God is

pure form

D. Gorgia

s [IV. All knowledge is conceptual

1)
(2)
3)
(4)

A W N R

Choose the correct answer from the options given below:

TA-ILEB-ILC-1,D-1IV
ZA-ILE-NL,C-IV,D-1
A-ILEB-ILC-1L,D-1IV
4 A-LBE-IV,C-IL,D-1N

Tl -1 B Gl -1 | AT Bifor -

Tl -| T -l

A. et . I HTYF B

8. 3% |\ 9 U wTe FRUs SR ®E FRUg g Bl
C.EPUG Il 3R [ags |Eu gl

D. TeTd  |Iv. §H1 §H B0 &

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25461]
2[Option ID=25462]
3[Option ID=25463]
4[Option ID=25464]

Hrd fau e femeal o © Ol IR gL

TA-IILB-II,C-I, D-1IV
ZA-ILBE-NM,C-1V, D-1
3JA-ILB-ILC-1, D-IV
4A-1,B-IV,C-Il, D-1I

Question Description : dwbv_pg_phl_eng_2_q40

Sl. No.41
QBID:3041

1) 1
) 2

What is common to all the Rationalists?

1. Acceptance of Matter

2. Reason and Reason alone is the source of all philosophical knowledge
3. Acceptance of causal relation

4. Acceptance of Doubt as the source of knowledge




(3) 3
(4) 4

it gfganical o o gm= g7

1. Tere B
2. T IR $ad o g4 TS T F WA o

3. BR® YaY Bl Wipfa
4. ¥ce @1 9 & Tid & ¥4 H Wipld

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25465] Question Description : dwbv_pg_phl_eng_2_q41
2[Option ID=25466]
3[Option ID=25467]
4[Option ID=25468]

Sl. No.42
QBID:3042

What is Not acceptable to Hume?

1. Sensationalism

2. Refutation of Causal relation
3. Scepticism

4, Mind is a substratum of ideas

(1)
(2)
(3)
(4)

A W N =

g1 ol Fifed O O &1 Wier el a7
1. §deAarg
2. PR ey &I RAIPfa

3. §=hdrg
4. 79 0T &1 TSR 6l

(1)
(2)
(3)
(4)

A W N R

1[Option ID=25469] Question Description : dwbv_pg_phl_eng_2_q42
2[Option ID=25470]
3[Option ID=25471]
4[Option ID=25472]

Sl. No.43
QBID:3043




What is not conducive to Kant?

1. Agnostic attitude towards the Noumenon

2. Apriori Synthetic Knowledge is a possibility

3. Adducing Moral argument for the existence of God
4. Space and Time are transcendentally real

(1)
(2)
(3)
(4)

froifeed & T a1 ve & o gee 6l &

1. WA & Uid SRar] sitgh

2. UFTHa® URENUITES FH U GHIE & |
3. 28R & SR o FE Afdd gidd &1 g
4. /M 3R BT 354 aRaiadd & |

A W N R

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25473] Question Description : dwbv_pg_phl_eng_2_q43
2[Option ID=25474]
3[Option ID=25475]
4[Option ID=25476]

Sl. No.44
QBID:3044

What is Not accpetable to Descartes?

A. Mind and Matter are the two distinct substances

B. Mind has thought as its quality

C. Mind is internal

D. God is the only substance

Choose the correct answer from the options given below:

1. A and B only.
2. B and C only.
3. Cand D only.
4. D only.

(1)
(2)
(3)
(4)

A W N R




SoId @l Fdifed ¥ & Wie Jal a7
A TTH 3R uer o i g B
B. 719 H U7 & ¥U H faER FRd gl gl

C. 79 31gidN® 3/aqd gidl o

D. PR IGAAZH 5|

g feu T faweal § 4 98l S
1.Pad A AR B
2. HadB AR C

3. ®dd C AR D
4.HaAD

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25477] Question Description : dwbv_pg_phl_eng_2_q44
2[Option ID=25478]

3[Option ID=25479]
4[Option ID=25480]

Sl. No.45
QBID:3045

Mark what is incompatible with Spinoza?

1. Modes are apparent
2. Modes are temporal
3. Modes entirely depend on substance
4. Modes are thoughts only, not things

(1) 1
(2) 2
(3) 3
(4) 4

fRUIo & A W 3RTd HUA fob UgaH Pifeg

1. U0 ST BId B
2. 10T H1® B1d 5
3. U910 Gl oE S W AR B €
4. U4fg dad faar gid 8 7 & axqu

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=25481] Question Description : dwbv_pg_phl_eng_2_q45
2[Option ID=25482]

3[Option ID=25483]
4[Option ID=25484]




Sl. No.46
QBID:3046

Which one of the following is approved by Kant?

1. Space and Time are g priori forms of perception

2. Space and Time are g posteriori forms of perception
3. Space and Time are empirically ideal
4. Space and Time are transcendentally real

(1)
(2)
(3)
(4)

@Ive - Fgifeod H 9 fod srHifed faar g

1. ®IF AR B Ha81Y & UFHHEE €Y ¢
2. R AR BIe HFaY & HUT AT EY £
3. ®IF AR &d SFaHE® e 3|

4. ®JF 3R Fa 359 ®9 9§ aRafad g

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25485] Question Description : dwbv_pg_phl_eng_2_q46
2[Option ID=25486]
3[Option ID=25487]
4[Option ID=25488]

Sl. No.47
QBID:3047

According to Kant, which one of the following is the foundation of Ethics?

1. Liberty
2. Freewill
3. Action

4. Reason

(1)
(2)
(3)
(4)

A W N =

®I0E & S8R FHifed # 4 Ffara of fla @ g
1. Sl

2. Waag=al
3. &

4. dhgfE

(1) 1
(2) 2
3) 3




(4) 4

1[Option ID=25489] Question Description : dwbv_pg_phl_eng_2_q47
2[Option ID=25490]
3[Option ID=25491]
4[Option ID=25492]

Sl. No.48
QBID:3048

Mark what is acceptable to Berkeley

A. There are Simple ideas

B. Ideas are only names

C. There are abstract ideas

D. There is no matter

Choose the correct answer from the options given below:

1. A only.

2. A and B only.

3. B and C only.

4. A, B and D only.

(1)
(2)
(3)
(4)

A W N =

frHifeed o ¥ Sdhal & Wb HYH DI UgdH Hited ;
A SHER Y Bl B
B. Hgd thael A g
C. H7d TAIeid gl
D. P ey T8l &Il 3
14 feu 7Y fawenl & 9 981 9w 9 :
1. HaA A
2.%ad A R B

3. HAAB AR C
4. HIAA, BAHRD

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25493] Question Description : dwbv_pg_phl_eng_2_q48
2[Option ID=25494]
3[Option ID=25495]
4[Option ID=25496]

Sl. No.49
QBID:3049




‘If one event is immediately succeeded by another event, it is usual though wrong, to take the first event as the cause of the
second event.' This is the view of:

A. Kant

B. Locke

C. Berkeley

D. Hume

Choose the eorrect answer from the options given below:

1. A only.
2. A and B only.
3.B and D only.
4. D anly.

(1)
(2)
(3)
(4)

g% [l g1 & dablal 916 GERl ged1 81d1 & df WHIddl Ugdl Ue-] &I Genl ge-l &I SRU AHET 9dl 8, 99U 98 Tad & |
I e Jd o

A W N =

A. T
B. Al®
C. g

D. §gH

g feu T fameal F 9 w8l SR
1. ®Hdd A
2.%dd A 3 B

3. ®ad B 3R D
4.HAAD

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25497] Question Description : dwbv_pg_phl_eng_2_q49
2[Option ID=25498]
3[Option ID=25499]
4[Option ID=25500]

Sl. No.50
QBID:3050




According to Spinoza what is true? Mark the correct answer.
A.Manis free

B. All ideas of Man are already determined by God

C. All the events of the world are already determined by God
D. Man is a psycho-physical entity

Choose the correct answer from the options given below:

1. A only.

2. A and B only.
3. A and C only.

4. B, C and D only.

(1)
(2)
(3)
(4)

A W N =

e & SR Fgifed & T &1 gel 82 To1 S @ fufgd #ifem)
A I WA B
B. HI® o 9 UT %R gR1 4d-@uid gid 3
C. giF & g+l BH $4R gR1 74 SqeIid §id g
D. AT &1 FAifo® I ®
14 feu e fowenl H 9 981 9w 9 :
1. ®ad A
2. had A R B

3. HaAA AR C
4.Hdd B, C AR D

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25501] Question Description : dwbv_pg_phl_eng_2_q50
2[Option ID=25502]
3[Option ID=25503]
4[Option ID=25504]

Sl. No.51
QBID:3051




According to Kant, moral laws are:

1. A priori based on reason

2. A priori based on emotion
3. A posteriori based on reason
4. A posteriori based on emotion

(1) 1
(2) 2
3) 3
(4) 4

@HI0E B HFUR Afads I E -

1. dhdfg W A1Rd UFHE®
2. HaT 3nerid urHias

3. Ahdfg W AR SHaisa
4. a1 ORI sHaIEd

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25505] Question Description : dwbv_pg_phl_eng_2_q51
2[Option ID=25506]

3[Option ID=25507]
4[Option ID=25508]

Sl. No.52
QBID:3052

Match List | with List 1

List | List 11

A. Sidgwik [I. Man is a law to himself.

B. Butler |Il. The impulse towards pleasure, if too predominant, defeats its own aim.

C. Jacoby |lll. Duty and self-interest are the only two motives of actions.

D.Kant  |IV. The law is made for the sake of man and not man for the sake of the law|

Choose the correct answer from the options given below:

T.A-ii,B-i C-iv, D-iii
2A-0B-ii, C-iv, D-iii
3A-iv, B-i C-iii, D -ii
4. A-ii,B-iv,C-ii,D-i

(1) 1
(2) 2
3) 3
4) 4




Tl -1 DI Gl -1l U GHferd Bife -
- g -

Aﬁ' s . Aa 90 & fom e g

11, afe Q@Y BT T A Uae gl oiidl ¢ ol 98 0
Tl o T Bl O30 el ® Ul g

C. STl Il B9 IR W-6d € dad & & ol @ o

. s @ e v & P g g 7 & Faw & ffm
S @ FEi

=< feu e fadenl H ¥ Tl Ik gL :

TA-ILB-LC-IV, D-1l
2ZA-LB-ILC-IV, D-1I
A-IVEB-LC-1IIL, D-1I
4 A-1LE-I,C-Il, D-1

B. d<a¥

D. @0

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25509] Question Description : dwbv_pg_phl_eng_2_q52
2[Option ID=25510]

3[Option ID=25511]
4[Option ID=25512]

Sl. No.53
QBID:3053

‘What is beautiful, is harmonious and proportionable; what is harmonious and proportionable is true; and what is beautiful
and true is agreeable and good' is the view held by:

1. Shaftsbury
2. Martineau
3. Cudworth
4. Bradley

(1) 1
(2) 2
3) 3
4) 4

"9l Yo & 98 THRY SR THMUT Bidl 5; 9 §A3Y 3R AU § 98 9d & 3R Sl o 3R 9d §, 98 Wia™ SR YHE"|
1. A HET
2.9

3. p8ad
4. ¢sd

(1) 1
) 2
3) 3




(4) 4

1[Option ID=25513] Question Description : dwbv_pg_phl_eng_2_q53
2[Option ID=25514]
3[Option ID=25515]
4[Option ID=25516]

Sl. No.54
QBID:3054

Who among the following holds this view that ‘feeling of pleasure and pain’ alone are motives of action?

1. Kant

2. Martineau
3. Bain

4. Bradley

(1)
(2)
(3)
(4)

Fofrad e s o G gu iR gE S YR S s F RS &7

1. BITE

2.91fég.
3.9

4. 53

A W N =

1)
(2)
(3)
(4)

A W N R

1[Option ID=25517] Question Description : dwbv_pg_phl_eng_2_q54
2[Option ID=25518]
3[Option ID=25519]
4[Option ID=25520]

Sl. No.55
QBID:3055

Select the correct code containing three Kantion postulates of morality:

1. Freedom, Will, Intution

2. Freedom, God, Immertality

3. Knowledge, Action and Emotion
4. Necessity, Category, Sensibility

(1)
(2)
(3)
(4)

A W N =




Sfcar & Ty & ®10e & diF SUR dal § TEd 98 e &1 997 SIfo

1. ¥dAd], Ybed, AU

2. WAl 4R, R

3. 9H, & 3R o

4. HGZgadI, Hife, Tdgd Iiied

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25521] Question Description : dwbv_pg_phl_eng_2_q55
2[Option ID=25522]
3[Option ID=25523]
4[Option ID=25524]

Sl. No.56
QBID:3056

Which one of the following is not consistent with the means of ‘Nirvana' in Buddhism?

1. Ragamayi Prajna
2. Bhavanamayi Prajna
3. Cintamayi Prajna
4. Srutamayi Prajna

(1)
(2)
(3)
(4)

sl uH o (gifeed & T @ Faior & 9eF & 91 Ed T8 6
1., AT URT
2. YIgArE! U=l
3. Tt usm
4. YAl U

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25525] Question Description : dwbv_pg_phl_eng_2_q56
2[Option ID=25526]
3[Option ID=25527]
4[Option ID=25528]

Sl. No.57
QBID:3057




‘Anasaktakarma’ according to Srimad Bhagvadgitd means:

1. Renunciation of Karma

2. Renunciation of Akarma

3. Renunciation of Vikarma

4. Renunciation within the Karma

(1)
(2)
(3)
(4)

WATGETAT & HTUR A B Y HE R

1. ®H &1 TR

2. 3HH &1 G
3. fg@d &1 ufam
4. &4 & Hiaw g

A W N R

(1)
(2)
(3)
(4)

A W N R

1[Option ID=25529] Question Description : dwbv_pg_phl_eng_2_q57
2[Option ID=25530]
3[Option ID=25531]
4[Option ID=25532]

Sl. No.58
QBID:3058

Which one of the following holds this view that 'Evil is not good but it is good that there is evil' 7
1. Augustine
2. Aquinas

3. Anselm
4. 7eno

(1)

af
+
gf
A
He
ﬂ'j_.l
!

far a1 & foh "3y Y a1 &, foowg U8 QU & T 2 g1

(1)
(2)
(3)
(4)

A W N R




1[Option ID=25533] Question Description : dwbv_pg_phl_eng_2_q58
2[Option ID=25534]
3[Option ID=25535]
4[Option ID=25536]

Sl. No.59
QBID:3059

Which one of the following is not true about ‘adrsta’?

1. It is stock of the merit and demerits of actions

2. It is non conscious

3. Itis an unseen power

4. It is intelligent and does not need the guidance of God

(1)
(2)
3)
(4)

A W N R

35Y $ Ydy H Fyifd § 4 1 9El el 8 :

1. 98 BH & 0T &Y &1 Gag &

2. qg I ed Bl

3. 98 Hexg Wfdd B

4. T8 UES & R 34 %R & A7 &I Sawgdd el Usdl gl

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25537] Question Description : dwbv_pg_phl_eng_2_q59
2[Option ID=25538]
3[Option ID=25539]
4[Option ID=25540]

Sl. No.60
QBID:3060

Which one of the following is not the aim of Trusteeship' of Gandhi?

1. Elimination of the difference between capital & labour
2. Providing opportunity to an individual to rise

3. Promoting love and sacrifice among people

4. Depriving the priviledged class of their wealth

1)
(2)
3)
(4)

A W N R




frwifed & O @ 7iish @t =ofyar &1 9 T8 82

1. ol 3R 99 o A faug &1 faaiu-

2. Tfad &I UITd BT TR IUas AT
3. AR H U9 HR AR &1 dasgq

4. gfaen Yus &7 @ 34 = U didd 3@

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25541] Question Description : dwbv_pg_phl_eng_2_q60
2[Option ID=25542]

3[Option ID=25543]
4[Option ID=25544]

Sl. No.61
QBID:3061

Who among the following has advocated that "Yoga is the outflowing of the Divine in collective humanity.’

1. 5ri Aurobindo

2. Swami Dayananda Saraswati
3. Shri Narayana Guru

4. Thiruvalluvar

1) 1
) 2
3) 3
(4) 4

Fiferd # © famie &yA € & aiT 31d 99 # 999 ¥0 { [Goadl &1 Soae 8 2

1. 41 aRfa=<
2. & TaHG 93]
3. 41 AR T

4. TP deay

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25545] Question Description : dwbv_pg_phl_eng_2_q61
2[Option ID=25546]

3[Option ID=25547]
4[Option ID=25548]

Sl. No.62
QBID:3062




Match List | with List 11

List | List 1l

A Tagore l. God is neither outside nature nor inside nature but God, Nature, soul and universe are all convertible
terms.

. . Il. The test of love is tapasya and tapasya is self suffering.

Radhakrishnan

C. Vivekananda |lll. The infinite and finite are one as song and singing are one

D. Gandhi IV. Religion is not a creed or a code, but an insight into reality.

Choose the correct answer from the options given below:

T.A-i,B-ii, C-iv,D-iii
2.A -0, B-iv,C-i,D-ii
IA-0,B-ivC-iii,D-i
4. A-iv, B-i, C-iii, D -ii

(1)
(2)
(3)
(4)

A W N =

- -l

o i |- T IO & TS T B Ul & Wi g 9,
' TP, S IR Faiis gt uRad-a ug B

B. .

- 1 UH @1 ORI 0 & 3R dUa] 98 & &P o 6l

C. 1. 3aRfEd 3R ol aF! te 9aE & o 1fid iR A
fddare [Us gaH B

oV o, Uy I1 SR diedl gl & afcd dRdiaddl &1 Sde
. >,

- fau e fgwedt @ 98l IR gL

TA-LB-ILC-IV, D-1l
2ZA-ILBE-IV,C-1, D-1
LA-ILB-IV,C-1Il, D-1
4A-IV,B-LC-Ill, D-1

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25549] Question Description : dwbv_pg_phl_eng_2_q62
2[Option ID=25550]
3[Option ID=25551]
4[Option ID=25552]

Sl. No.63
QBID:3063




Who among the following defines the Absolute as "What is free from implicational dualism of content and consiousness'?

1. J. Krishnamurti

2. M.N. Roy

3. Narayana Guru
4. K.C. Bhattacharya

(1) 1
(2) 2
3) 3
4) 4

fgifeed o ¥ foe- TAd@ &1 IR 5d U Bel & 1o Sl UG el ad S Haa gl

1. . Pl
2. UH U431
3. ARAU %

4.9, @ Yo

(1)1
(2) 2
3) 3
(4) 4

1[Option ID=25553] Question Description : dwbv_pg_phl_eng_2_q63
2[Option ID=25554]
3[Option ID=25555]
4[Option ID=25556]

Sl. No.64
QBID:3064

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R) considering in the
light of Sri Aurobindo's concept of absoclute.

Assertion (A) : Absolute is not all inclusive whole.
Reason (R) : World is full of diversities.
In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4, (&) is false but (R) is true.

(1) 1
(2) 2
3) 3
(4) 4




Jd I HY RUTE : Td Bl AHHYF (A) R G B a (R) Bel T &

=

gt aRfde B THdE B el & Ao H f[duR S -
YU (A) : THAE GagHa gof &g & &

dd (R) : fay fafguarset 9 ufguf 81

e BT & 3Teiie H il fdecal § ¥ gl SR 9 :

1.A AR RGHI 9 & AR R, A B Gol ARAT &

2. A 3R R GFI Gd g oid R, A B Tal el Tl g
3. A 0T AfdA R 2T B

4. A HTH g, df R T B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25557] Question Description : dwbv_pg_phl_eng_2_q64
2[Option ID=25558]

3[Option ID=25559]
4[Option ID=25560]

Sl. No.65
QBID:3065

Match List | with List 11

List | List Il

A. Liberal feminism |I. Charles Fourier

B. Radical feminism |Il. Mary Wollstonecraft

C. Socialist feminism|lll. Friedrich Engels

D. Marxist feminism (IV. Shulamith Firestone

Choose the correct answer from the options given below:

T.A-ii,B-iv,C-i, D-ii
2A-0 B-ii, C-iv, D -iii
3A-iv, B-i C-iii, D-ii
4. A -0, B-iv, C-iii, D-i

(1)1
(2) 2
3) 3
4) 4




Tl -1 B gt -1l H G B -

Tl -| Il -1

A. 3GR ARIEG 1. T IRTR

8. B ANIAG II. 7 A hIE
C. GHTSAIG] ARidTg 111 Ths R Toied

D. HIRIAIS] ARl V. Y BIEREH
g feu mu famedl § 9 w8l I g

TA-II,B-IV,C-I, D-1I
ZA-LB-ILC-IV, D-1I
JA-IVEB-LC-1IL, D-1I
4 A-ILE-IV,C-1I, D-1

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25561] Question Description : dwbv_pg_phl_eng_2_q65
2[Option ID=25562]
3[Option ID=25563]
4[Option ID=25564]

Sl. No.66
QBID:3066

"The severity of punishment should be directly proportional to the seriousness of the crime.” With which Theory of
Punishment is this statement is associated?

1. Deterrent theory

2. Retributive theory
3. Reformative theory
4. Commutative theory

(1)
(2)
(3)
(4)

GUS &1 HARAl WY B TTHRAT & g FHMHUG B1H1 91T T8 HYH aUs & [y figid T Tgaifed &:

1. FarR® fgid

2. TdIpRIHS [bgid
3. GYRTHAD Haid
4. rgdHuTd fasia

A W N R

(1)
(2)
(3)
(4)

A W N &

1[Option ID=25565] Question Description : dwbv_pg_phl_eng_2_q66
2[Option ID=25566]
3[Option ID=25567]
4[Option ID=25568]




Sl. No.67
QBID:3067

Select the code that contains two Theories of Punishment:

1. Retributive and Reassuring
2. Reformative and Reassuring
3. Retributive and Reformative
4. Preventive and Reassuring

(1)
(2)
(3)
(4)

3 B2 B 904 Do o 508 & &l [aSid safdy &

1. TP RIS AR [IHEA

2. gORIED AR TRIERA
3. TAPRIES AR YHRIETS
4. FaR® SR YA

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25569] Question Description : dwbv_pg_phl_eng_2_q67
2[Option ID=25570]
3[Option ID=25571]
4[Option ID=25572]

Sl. No.68
QBID:3068

Given below are two statements, one is labelled as Assertion (&) and the other is labelled as Reason (R).
Assertion (A) : There is no suffering in the world

Reason (R) : R: God is almighty

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4. (&) is false but (R) is true.

(1) 1
(2) 2
3) 3
4) 4




TRTFERUTE: 1@ o HiFHY (A) 3R TR &1 a6 (R) Hel T2
HYFHU (A) : FI T DR @ el ol

R) : $% GaIGanH 5l
SUgH YA & SHelP H FHifdd [abedl § 4 981 SW g -

1. (A) 3R (R) THT TE1 & 3R (R), (A) BT TEI ATSAT B |
2. (A) 3R (R aﬁfﬂ@%ﬂﬁ )ﬁﬂﬁw@rqﬁﬁl
3. (A) FEI B IR R}ﬂ?ﬁ%‘r%l
4. (A) TS T & g (R) Tl B
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25573] Question Description : dwbv_pg_phl_eng_2_q68
2[Option ID=25574]
3[Option ID=25575]
4[Option ID=25576]

Sl. No.69
QBID:3069

Who holds the view that Jiva--- (individual self) is itself, is the knower, doer and enjoyer?
A. Sarhkaracharya

B. Ramanujacharya

C. Madhvacharya

D. Vallabhacharya

Choose the correct answer from the options given below:

1. A and B only.
2. B and C only.
3. A and C only.
4. B, C and D only.

(1) 1
(2) 2
3) 3
(4) 4




friferd # 4 fes1 o1 7d @ fob ol (cufed &1 aire) T0d | ST, Hdl 3R Hidkdl & |
A, BT
B. A
C. AR
D. T
i feu e fowenl H 9 981 9w 9
1.%ad A 3R B
2. hae B AR C

3. BIAA AR C
4.%HddAB, C 3R D

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25577] Question Description : dwbv_pg_phl_eng_2_q69
2[Option ID=25578]
3[Option ID=25579]
4[Option ID=25580]

Sl. No.70
QBID:3070

The challenges of Sophists regarding knowledge were ably met by
A. Socrates

B. Plato

C. Aristotle

D. Epicurus

E. Democritus

Choose the correct answer from the options given below:

1. A only.
2. A, and B only.
3. C only.
4. D and E only.

1)
(2)
(3)
(4)

A W N R




FH & aR H Fifthe &1 gHIfadl &1 U@ e gr e man

A gERE
B. el

C. 3R]

D. Uz g

£, SHIfhed

T feu U f9seul 5 § 981 I 3
1. Had A
2. %0 A AR B

3. ®ad C
4.Had D AR E

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25581] Question Description : dwbv_pg_phl_eng_2_q70
2[Option ID=25582]
3[Option ID=25583]
4[Option ID=25584]

Sl. No.71
QBID:3071

The statement, ‘Men are not hanged for stealing horses, but that horses may not be stolen’, is associated with:

1. Retributive theory of punishment
2. Reformative theory of punishment
3. Preventive theory of punishment
4. Relative theory of punishment

(1)
(2)
(3)
(4)

A W N =

I Bl 314 B AN B & GUS & &Y H BIYl Ael ol Wil &, fihwq dg [ Hiasd J o1y Sl I T80

g Ty Fgifed # 4 food 995 &7

1. GUS DI WidPRIAD FGid
2. 305 B QURTES Haid
3. GUS @ (HaR® Msid

4. GUS @I Aife s

(1)
(2)
(3)
(4)

A W N =




1[Option ID=25585] Question Description : dwbv_pg_phl_eng_2_q71
2[Option ID=25586]
3[Option ID=25587]
4[Option ID=25588]

Sl. No.72
QBID:3072

Who among the following is of the view that, 'The true ground of morality can only be the will and Law of God?'

1. Muirhead
2. Rashdall
3. Locke

4. Hume

(1)

(2)

(3)

4

FfofEad o feae ads @ -

Afd@d &1 Gel YR 9hcd 3R 3R I Fua g sl dar el
1. RX8S

2.3=Ed
3. dld
4. 800

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25589] Question Description : dwbv_pg_phl_eng_2_q72
2[Option ID=25590]
3[Option ID=25591]
4[Option ID=25592]

Sl. No.73
QBID:3073

Who among the following held this view “The civil law alone is the Supreme Court of appeal in all cases of right and wrong.”

1. Descarles

2. T.S. Mill

3. Leslie Stephan
4. Hobbes

1)
(2)
3)
(4)

A W N B




frgifera o fomiaer ad o1 s -
Tl AR e o it Al o s fafae [l (@@= &rE) € sdie & [tk 3wdn aEed g 1

1.5
2.9, ug. fiaa
3. T R H
4. BT

(1)
(2)
(3)
(4)

A W N R

1[Option ID=25593] Question Description : dwbv_pg_phl_eng_2_q73
2[Option ID=25594]
3[Option ID=25595]
4[Option ID=25596]

Sl. No.74
QBID:3074

"The new religion says that he is the atheist who does not believe in himself" is the view of :

1. Deendayal Upadhyaya
2. Swami Vivekananda

3. Dr. S. Radhakrishnan
4, Mahatma Gandhi

(1)
(2)
(3)
(4)

3o o8 H Sl 1 & [ a8 Al orfiaRard & o 0 R Ry 9 dxar g 1

A W N =

Ug Fgifed § O fog@ fGaR &2

1. GG JUTEY
2. W@ Ge@re
3. 31 U0, AUHUH
4. FETEH T

(1)
(2)
(3)
(4)

A W N R

1[Option ID=25597] Question Description : dwbv_pg_phl_eng_2_q74
2[Option ID=25598]
3[Option ID=25599]
4[Option ID=25600]

Sl. No.75
QBID:3075




Select the correct sequence of the following:

1. Badily Subjectivity, Psychic Subjectivity, Spiritual Subjectivity
2. Psychic Subjectivity, Spiritual Subjectivity, Bodily Subjectivity
3. Spiritual Subjectivity, Bodily Subjectivity, Psychic Subjectivity
4. Bodily Subjectivity, Spiritual Subjectivity, Psychic Subjectivity

(1)
(2)
(3)
(4)

fifced &1 98l H9 g

1. BIUD HTHR DI, HHND HHAWRDI, SHEHD AR DAl
2. AHFN® ATHR O], STEHD HHR D], BIidd HAHUIB
3. HEIES ATHR DA, DD HHRD], HHND AR Dl
4. BIYD HHUD], AL HTHR DI, HHNS HHUR B

A W N R

(1)
(2)
3)
(4)

A W N =

1[Option ID=25601] Question Description : dwbv_pg_phl_eng_2_q75
2[Option ID=25602]
3[Option ID=25603]
4[Option ID=25604]

Sl. No.76
QBID:3076

Match List | with List 1

List | List II

A ~(p~g)l. (~pva)(~qvp)
B. p=q Il pvqg

C. ~(p=q) Il (p-~q)Vv(g-~p)
D. ~p2q |IV.p2q

Choose the correct answer from the options given below:

TA-LB-IV,C-1I,D-1l
2ZA-ILB-1,C-1V,D-1
LA-ILB-LC-U,D-IV
4A-IV,B-LC-lI,D-1

(1)
(2)
(3)
(4)

A W N =




Tl -1 DI Gl -1l U GHferd Bife -

el - el -1

A ~(p~q) L (~pva)(~qvp)
B. p=q Il. pvg

C. ~(p=q) . (p-~q)vig~p)
D. ~p2q IV. p2q

g feu e fawedl H ¥ 98l S g :

TA-1,B-IV,C-lll, D-1
ZA-ILB-1I,C-1V, D-1
LA-ILB-LC-N, D-1IV
4A-IV,B-LC-Ill, D-1

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25605] Question Description : dwbv_pg_phl_eng_2_q76
2[Option ID=25606]
3[Option ID=25607]
4[Option ID=25608]

Sl. No.77
QBID:3077

Which one of the following is the correct symbolization of the the sentence:

‘No coat is waterproof unless it has been specially treated.’

() (~Wx V Sx)]
(x) (Wx 2 ~5x]]
(CxWx) O~35x]
Cx D (~5x 2O Wx)]

— — —

(1)
(2)
(3)
(4)

Fofaad 3 9 ------ &9 91 U a19d &1 ol Ui ieu (Haa) o2 fad! ot @ic & 99 a@ iy 30 T =ifta 981 fem g
9 @ g JaRidl el gl @l g1

() (~Wx V Sx)]
() (Wx 2~5x)]
(CxWx) D~5x]
Cx D (~5x D Wx)]

A W N R

— — —

(1)
(2)
(3)
(4)

A W N R

1[Option ID=25609] Question Description : dwbv_pg_phl_eng_2_q77
2[Option ID=25610]




3[Option ID=25611]
4[Option ID=25612]

Sl. No.78
QBID:3078

Which of the following philosophers criticised Quine in defence of a dogma?
A. Strawson

B. Ryle

C. Ayer

D. Grice

E. Chomsky

Choose the correct answer from the options given below:

1. A and D only.
2. A and E only.
3. A DandE only.
4. B, D and E only.

1)
(2)
(3)
(4)

A W N R

fFrafeiad 4 9 e gEite! 3 ®15 goufd & 9947 1 sai=r fear g2
ARG
B. s
C. T
D. AIgY
£ IS
T feu U f9seul 5 § 981 I 3
1. ®ad A 3R D
2.bad A ARE

3. ®BaAA, D 3IRE
4.%ddB, D ARE

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25613] Question Description : dwbv_pg_phl_eng_2_q78
2[Option ID=25614]
3[Option ID=25615]
4[Option ID=25616]

Sl. No.79
QBID:3079




Given below are two statements, one is labelled as Assertion (&) and the other is labelled as Reason (R).
Assertion (A) : Truth table is a decision procedure
Reason (R) : In case of decision procedure we can effectively determine the truth-value of a proposition
In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4, (&) is false but (R) is true.

(1) 1
(2) 2
3) 3
4) 4

TRTFTERUE: 1@ o AU (A) IR TR &1 a6 (R) el T2

SHHYF (A) : Ggarmol te Fufg uisar g1

@ (r) : Fofg ufeem o1 R o 50 5 79 9 & I9a-0d @ TUEeR! e 3§ Fyika @2 ¥@d &
QU YAl B eiD H FHifhd fddel # ¥ W8l I -

1. (A) 3R (R) GHT HE1 & 3R (R), (A) BT FEI AREAT B
2. (A) 3R (R ?ﬁfﬂﬁ%ﬂﬁ )ﬁﬂéﬁwqﬁ%
3. (A) W8I 8 U3 R}ﬂtﬂﬂ%ﬁ‘%l
4. (A) GBI TRl & IR (R) eI B
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25617] Question Description : dwbv_pg_phl_eng_2_q79
2[Option ID=25618]
3[Option ID=25619]
4[Option ID=25620]

Sl. No.80
QBID:3080




Which one of the following does not represent Laws of Thoughts
A. The Principle of Sufficient Reason

B. The Principle of Identity

C. The Principle of Contradiction

D. The Principle of Excluded Middle

Choose the correct answer from the options given below:

1. A only.
2.D only.
3. A and D only.
4. B and C only.

(1)
(2)
(3)
(4)

A W N =

fFafaiad # 9 ®F 91 f[99R @ o9 @1 (=Ud 981 &l &
A. I &g &1 FaH
B. eI & 199
C. faxre a1 |
D. A URER &1 F1aH
1 feu e fowenl H § 981 9w 9
1. Had A
2.%aa D

3. Had A AR D
4. BIAB IR C

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25621] Question Description : dwbv_pg_phl_eng_2_q80
2[Option ID=25622]
3[Option ID=25623]
4[Option ID=25624]

Sl. No.81
QBID:3081




Which one of the following is/are accepted in an Axiomatic System:
A. Thesis (f) P entails that P is necessarily true.

B. Thesis (f) P entails that P is possibly true.

C. P entails that P is necessarily true.

D. P entails that P is possibly true.

Choose the correct answer from the options given below:

1. A and B enly.

2. A, B and C only.
3. B, Cand D only.
4. A, B and D only.

(1)
(2)
(3)
(4)

A W N =

Tfig yuel | Fgifed 3 9 7 wied 5/E:
A. TRITTH (AP F UG & i p siara: 9 81
B. TRITTH (AP ¥ 3ifiud g f& p Syaa: G 8|
C. P ¥ WA € & p sfFaria: 9 B
D. P ¥ 3HUT & & p THaq: 9B
14 feu e fowenl H 9 981 9w 9 :
1.%ad A 3R B
2. g A, B3R C

3.%aaB, C 3R D
4. BIAA, B3ARD

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25625] Question Description : dwbv_pg_phl_eng_2_q81
2[Option ID=25626]
3[Option ID=25627]
4[Option ID=25628]

Sl. No.82
QBID:3082




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : According to Russell, a logically proper name is known by acquaintance.

Reason (R) : A logically proper name stands for a particular and it does not have any descriptive content..
In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4, (&) is false but (R) is true.

1)1
(2) 2
3) 3
(4) 4

TRTFFE RUME: @ ol AfiFmuT (4) R TR &1 dd (R) T TR

HYHY (A) : THA & IER difbd $U ¥ Afdd I Y1 IRag deard o

dh (R) : difthe ¥U U sfdaarad 4 bl [aRg ®f HEUd @dl € AR 399 &1 faaundd® uaf gl gidl 6|
Qe B! B 3Tl H FHHifed [deel § 9 98 SR g -

1. (A) 3R (R) GFIf T8I § 3R (R), (A) P! Hel AT 6
2.(m) 3R (R aﬁfﬂaﬁ%uﬁ )ﬁﬂéﬁwqﬁ%l
2. (A) HEIE T R}“ﬂ'ﬁ%ﬁ%’l
4. () HE TET 8 I (R) WEI €I
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25629] Question Description : dwbv_pg_phl_eng_2_q82
2[Option ID=25630]
3[Option ID=25631]
4[Option ID=25632]

Sl. No.83
QBID:3083




Given below are two statements, one is labelled as Assertion (&) and the other is labelled as Reason (R).
Assertion (A) : In the case of a categorical syllogism the Middle Term is absent in the conclusion.

Reason (R) : The function of the Middle Term of a categorical syllogism is to establish the relation between the Major Term
and the Minor Term.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4, (&) is false but (R) is true.

(1) 1
(2) 2
3) 3
(4) 4

TRAFTERTME: 1@ 3 HUFUF (A) IR TR &1 dF (R) Tel T2

SHEHYA (A) : FRU& TrHdre & e 1 56y I 09 Ug SR Jedl o

@ (R) : FRU& 06 & TS ©1 O/ 9 UG AR AT UG & 09 gy |A1ftd S 6
QU YAl B eiD A FHifhd el ¥ W8l I -

1. (A) 3R (R) GHT HE1 & 3R (R), (A) BT FEI AREAT B
2.(A) 3R (R aﬁfaﬁ%uﬁ )ﬁﬂﬁwmﬂfﬁ%l
3. (A) §EI 8 U3 R}ﬂtﬂﬂﬁ%l
4. (A) TS TS 8 R (R) TET &
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25633] Question Description : dwbv_pg_phl_eng_2_q83
2[Option ID=25634]
3[Option ID=25635]
4[Option ID=25636]

Sl. No.84
QBID:3084




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Modern (Boolean) interpretation denies existential import of universal propositions.
Reason (R) : Universal propositions in the true logical form are conditionals.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4, (&) is false but (R) is true.

(1) 1
(2) 2
(3) 3
(4) 4

TRTFTERTME: 1@ 3 AU (A) FR TR @I dd (R) Tel T3

G (A) : YD @) Fae # 9aHiie 9d dhardd & SKiaWe AR f WeR el [6d] T g
d (R) : GlTH® ddbared el diidbd 9 H Ga1d® &

Qe B! B 3Tl H FHifed f[deel § 9 98 IR g -

1. (A) 3R (R) GFI T8I & 3R (R), (A) B! Hel AT 6
2. (8) 3R (R aﬁf%ﬁ%uﬁ )ﬁﬂéﬁwqﬁ%l
2. (A) HEIE T R}“ﬂ'ﬁ%ﬁ%’l
4. () HE TET 8 I (R) WEI €I
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25637] Question Description : dwbv_pg_phl_eng_2_q84
2[Option ID=25638]
3[Option ID=25639]
4[Option ID=25640]

Sl. No.85
QBID:3085

Which of the following is true to Husserl?

1. Consciousness is the lowest level of awareness.

2. There is no language which expresses Being.

3. Consciousness remains a 'Phenomenological residuum’.
4. Responsibility is associated with freedom.

(1)
(2)
(3)
(4)

A W N =




gud & e A Fmifeed d 4 901 91 &

1. AT HIRT @1 e wR B

2. 9q &1 Heafdd &3 dlel sls YNl el gl

3. T 3id § BAHAaved Ay & © U | e i 8
4. ITGIUE Wdaal 4 9aidd eidr g

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25641] Question Description : dwbv_pg_phl_eng_2_q85
2[Option ID=25642]

3[Option ID=25643]
4[Option ID=25644]

Sl. No.86
QBID:3086

Which one of the following Philosophers asserts that "Thought is a Third realm'?

1. Frege

2. Russell

3. Wittgenstein
4. Mill

1) 1
) 2
3) 3
(4) 4

fFraifed 2 4 fog oeffe o sfiew & 5 Ter adm aa g1

1.7
2. 304

3. faeiterza
4. fod

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25645] Question Description : dwbv_pg_phl_eng_2_q86
2[Option ID=25646]

3[Option ID=25647]
4[Option ID=25648]

Sl. No.87
QBID:3087




Which of the following are true?

A. According to Wittgenstein, the world is the totality of particulars.

B. According to Heidegger, the world is the totality of equipments.

C. According to Strawson, the world is the totality of facts.

D. According to Russell, the world consists in a plurality of independent discrete entities.
Choose the correct answer from the options given below:

1. A and B enly.
2.B and D only.
3. A and D only.
4. A, Cand D only.

(1)
(2)
(3)
(4)

A W N =

FEfed A U P Y BYITEI 3 2
A. T & SR Sd G2t &1 9q=T

B. B3R & 3FJUR Wid SUHR| B §HY FU &

C. ®HH & AR SATd 92l &1 909l &
D. THA & IR w1d H FRIfA gues il @1 agadr sfdfdy 81
14 feu e fowenl H 9 981 9w 9 :

1.%qd A AR B

2. %ad B 3R D

3. Had A AR D
4.HFAA, CARD

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25649] Question Description : dwbv_pg_phl_eng_2_q87
2[Option ID=25650]
3[Option ID=25651]
4[Option ID=25652]
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Which of the following is/are accepted in Truth - functional logic?
A. The negation of a tautology is a contradiction.

B. The negation of a contingent is a contingent.

C. The negation of a contradiction is a contradiction.

D.The negation of a contradiction is a tautology.

E. The negation of a contingent is a tautology.

Choose the correct answer from the options given below:

1. A and C only.
2.B and D only.
3. A, B and D only.
4. C and E only.

(1)
(2)
(3)
(4)

A W N =

T B do H FHiied § & Widd /8 ?
A. GTETad @1 ey Ry g1
. HTOIfod &1 Y AT 2|
C. Tariey @1 e favre €
D. faRie 1 Y gl 81
£, I 1 (HuY geie g
< feu U fosenl 5 9 951 I 2
1. ®ad A SR C
2.%ad B SR D

3. WA A, B AR D
4. Had C AR E

(1)
(2)
3)
(4)

A W N R

1[Option ID=25653] Question Description : dwbv_pg_phl_eng_2_q88
2[Option ID=25654]
3[Option ID=25655]
4[Option ID=25656]
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Match List | with List 1

List List 11

A. Nietzsche l. The method of phenomenclogy is a method of direct intuition.
B. Morleau-Ponty|ll. God is dead.

C. Husserl IIl. & human being is essentially a forward projecting creature.

D. Heidegger IV. Phenomenology can be recognized as a mode of thought.

Choose the correct answer from the options given below:

TA-LB-UI,C-IN,D-1l
2ZA-ILB-1,C-1V,D-1
LA-ILB-IV,C-1,D-1
4A-IV,B-LC-lI,D-1

(1)
(2)
(3)
(4)

A W N =

Tt -1 DI G -1l T goferd B -

T -| T -1l
A, iRl |. SgirRIR &1 fafd U Siaus &1 U faf g |
%u?’rai_ LRI B
C.E9d |1 AFE HHEd 30 T o waiftad uih 8|

— IR &l idd & U 91ed & ¥4 717 a1 o
. gl ¢
g feu T fawedl H ¥ 9el S g

TA-1,B-II,C-1V, D-1
2ZA-ILB-1I,C-1V, D-1
3LA-ILB-IV,C-1, D-1l
4 A-IV,B-LC-II, D-1

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25657] Question Description : dwbv_pg_phl_eng_2_q89
2[Option ID=25658]
3[Option ID=25659]
4[Option ID=25660]
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Which one of the following assertions is true?

1.Pa /o (%) Px
2. Py [ (x) Px
3. Pa /o (fx)Px
4. Pa Py /.. (x) (Px 2Py)

(1)
(2)
(3)
(4)

A W N R

fofafad fd e At YT Ed B ?

1.Pa /o (%) Px
2. Py [ (x) Px
3.Pa /o (fx)Px
4. Pa 2Py /.. (x) (Px 2Py)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25661] Question Description : dwbv_pg_phl_eng_2_q90
2[Option ID=25662]
3[Option ID=25663]
4[Option ID=25664]
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Read the following passage and answer the questions that follow:

There is on the one hand the thing of which we are aware -- say the colour of my table -- and on the other hand the actual
awareness itself, the mental act of apprehending a thing. The mental act is undoubtedly mental, but is there any reason to
suppose that the thing apprehended is in any sense mental?... This question of the distinction between the act and the object
in our apprehending of things is vitally important, since our whole power of acquiring knowledge is bound up with it. The
faculty of being acquainted with things other than itself is the main characteristic of a mind. Acquaintance with objects
essentially consists in a relation between the mind and something other than the mind; it is this that constitutes the mind's
power of knowing things. If we say that the things known must be in the mind, we are either unduly limiting the mind's
power of knowing, or we are uttering a mere tautology. We are uttering a mere tautology if we mean by 'in the mind’ the
same as by 'before the mind', i.e. if we mean merely being apprehended by the mind. But if we mean this, we shall have to
admit that what, in this sense, is in the mind, may nevertheless be not mental... If | am acquainted with a thing which exists,
my acquaintance gives me the knowledge that it exists. But it is not true that, conversely, whenever | can know that a thing of
a certain sort exists, | or someone else must be acquainted with the thing.

frafafes et o1 wrgde i e fig T us & s difvg:

U@ R 9% 997 311 & 0¥ 59 Si@d 81d & - 9T 304 S &I qU1 iR Gl 3R W@ anafas gdad], f[ava & s@ay 3
A foean | AFfe 4 Aicg AR 8id1 8, fag 701 78 5 &1 @i BRUI & 6 s/aaifid faug fadt o o iy 87 -
fqudl & day ¥ gAR 3fdy & HH J $H R WieH & 99 faug &3 &1 98 WY Sifd Agayyl 5, Hifh gAR JHEH & 957
Yfdd 3O9 eS¢l fawa & sifafvad fawal ¥ goiiad 3 @ IHifed 739 @ 9@ et faged g1 fawat & 33 o
Tad: 79 3R 79 3 i et org 9w & 7 Uay Jfafp e & - 541 O gl & 9 & 799 & &1 Ao g gl

3¢ 98 @el WY i a1 favg FRuaea: 579 H fagE gF1 9ifge df 31 df 89 9F U &3 & deH H 799 @1 Wfdd &
UREITHT B3 35 ©, U1 55 dbad GA%iad @ HI™ @R 3¢ ol UG gF 9 4 SR B9 & G494 cHl @ HuE Ue 999 919 6,
HYid Fc BRI SHHUY $ad 79 aR1 Sfadliid [HU - & YeH ¥ §, df 59 bad [Asiad @1 ™ 2 36 ol [ dia gART
T U8 & ol gF WIeR & e i 39 o & o 999 © & 98 9 e i 8 9w ¢ - ofe § i ug @ guRa §
o 2R | € O 71 39 99 9 uRfed §F & Boka U {3l U8 1 UK gidl & 1 Ug fawg fagm B 1 fég fauda: U8 9 181
& [ 9@ ot W 931 99 81 9abd & & fodl waR &1 @fs favg ifaa 7 8, # 91 33 30 =fdd 34 fawg ¥ srawy ulfad @
BT

The passage is extended to explore the nature of:

1. Act only

2. object only

3. both act and object

4. The process of acquiring knowledge

1 1
(2) 2
3) 3
4) 4




39 TRITR 1 UeeiaH Fgifthd @1 Udpid o a9 & Je%d ¥ [Bar T g -

1. bad pd
2. had €Y
3. T AR A G
4. AU &I Uighar

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25665] Question Description : dwbv_pg_phl_eng_2_q91
2[Option ID=25666]
3[Option ID=25667]
4[Option ID=25668]

Sl. No.92
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Read the following passage and answer the questions that follow:

There is on the one hand the thing of which we are aware -- say the colour of my table -- and on the other hand the actual
awareness itself, the mental act of apprehending a thing. The mental act is undoubtedly mental, but is there any reason to
suppose that the thing apprehended is in any sense mental?... This question of the distinction between the act and the object
in our apprehending of things is vitally impertant, since our whole power of acquiring knowledge is bound up with it. The
faculty of being acquainted with things other than itself is the main characteristic of a mind. Acquaintance with objects
essentially consists in a relation between the mind and something other than the mind; it is this that constitutes the mind's
power of knowing things. If we say that the things known must be in the mind, we are either unduly limiting the mind’s
power of knowing, or we are uttering a mere tautology. We are uttering a mere tautology if we mean by ‘in the mind’ the
same as by 'before the mind’, i.e. if we mean merely being apprehended by the mind. But if we mean this, we shall have to
admit that what, in this sense, is in the mind, may nevertheless be not mental... If | am acquainted with a thing which exists,
my acquaintance gives me the knowledge that it exists. But it is not true that, conversely, whenever | can know that a thing of
a certain sort exists, | or someone else must be acquainted with the thing.

frafafEa Ty S wuryds ufe vd g 7o ust F Iwv fifse

U@ AR 9¢ 39y g1 & ol g0 oiavd 8id & - 39U 30e B &l quf iR gl 3R W anafas Tead), fawa & sadly 31
AR 61| AHi® $H Hics AFN® gidl ¢, [ 31 98 AH- &1 B3 BRUI ¢ [d gaiad [ug 6 onf § aFfae 7 -
faual & Gy H gHN 3GaY & HH H BH IR WioH & A [aHE @ &1 98 WY 3 Heaqul ¢, Fifh §HR FHeH B G
Tfed 399 319G ¢! favg & sffafad fawal ¥ quifad gF &1 99Rifed 59 &1 3= sffyanaiUe farwar g1 fawal & g9 o
HAd: HA9 3R 79 ¥ e [ o/ da & A9 Gay Sfd-p 8id1 ¢ : 341 9 3wl & JH 84 599 &d1 &1 HEi0 g1 g

4fg 98 Pel WU & a1d faug FRudea: 7499 o MM [ 9iiey df a1 df 89 9H UId @A & dad § 399 @1 2fad &1
UIREifid © 38 €, U1 64 dhad UHSidd &1 HIW &1 3¢ o e eH F40 H 3R 049 o Y& GHI &l U Uh 99 AHd B,
JHuiq afe gART U™ SHad 749 gRI H@dlied fBu o & de 3 8, dl g9 chad GAsidd ol YIS &R 38 ol oo 3G gaRT
HFATT T8 B ot g8 WieR &1 ain i 39 onf § ol 799 1 § a8 aFi® el o €1 9ddl ¢ - 3¢ | o favg @ guitfaa §
Sl 31f%&icd # § I 71 39 fawg € uRferd g & Basawu 93l U8 94 Wi 5idT & & 9g fawy fagme 31 fog fauda: ue 9 et
2 fob ord &l ot g2 TH 51 U & o [l PR &1 $is (999 3@ 0 8, § 91 $is 3 ofed 34 fawg U ofa=g uRfad @l
Hull




Philosophical position of which of the following philesophers is being refuted in the given passage?

1. Berkeley
2. Descartes
3. Hegel

4. Leibnitz

(1)
(2)
(3)
(4)

f&u U TTeriw @ Fgifeed 4 € forg aRifA® od @1 srdigd fosan T B
1.9%d
2. 3@

3. 374
4, TS ETel

A W N =

(1)
(2)
(3)
(4)

A W N R

1[Option ID=25669] Question Description : dwbv_pg_phl_eng_2_q92
2[Option ID=25670]
3[Option ID=25671]
4[Option ID=25672]
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Read the following passage and answer the questions that follow:

There is on the one hand the thing of which we are aware -- say the colour of my table -- and on the other hand the actual
awareness itself, the mental act of apprehending a thing. The mental act is undoubtedly mental, but is there any reason to
suppose that the thing apprehended is in any sense mental?... This question of the distinction between the act and the object
in our apprehending of things is vitally important, since our whole power of acquiring knowledge is bound up with it. The
faculty of being acquainted with things other than itself is the main characteristic of a mind. Acquaintance with objects
essentially consists in a relation between the mind and something other than the mind; it is this that constitutes the mind's
power of knowing things. If we say that the things known must be in the mind, we are either unduly limiting the mind's
power of knowing, or we are uttering a mere tautology. We are uttering a mere tautology if we mean by 'in the mind’ the
same as by 'before the mind', i.e. if we mean merely being apprehended by the mind. But if we mean this, we shall have to
admit that what, in this sense, is in the mind, may nevertheless be not mental... If | am acquainted with a thing which exists,
my acquaintance gives me the knowledge that it exists. But it is not true that, conversely, whenever | can know that a thing of
a certain sort exists, | or someone else must be acquainted with the thing.

frafafes et o1 wrgde i e fig T us & s difvg:

U@ R 9% 997 311 & 0¥ 59 Si@d 81d & - 9T 304 S &I qU1 iR Gl 3R W@ anafas gdad], f[ava & s@ay 3
A foean | AFfe 4 Aicg AR 8id1 8, fag 701 78 5 &1 @i BRUI & 6 s/aaifid faug fadt o o iy 87 -
fqudl & day ¥ gAR 3fdy & HH J $H R WieH & 99 faug &3 &1 98 WY Sifd Agayyl 5, Hifh gAR JHEH & 957
Yfdd 3O9 eS¢l fawa & sifafvad fawal ¥ goiiad 3 @ IHifed 739 @ 9@ et faged g1 fawat & 33 o
Tad: 79 3R 79 3 i et org 9w & 7 Uay Jfafp e & - 541 O gl & 9 & 799 & &1 Ao g gl

3¢ 98 @el WY i a1 favg FRuaea: 579 H fagE gF1 9ifge df 31 df 89 9F U &3 & deH H 799 @1 Wfdd &
UREITHT B3 35 ©, U1 55 dbad GA%iad @ HI™ @R 3¢ ol UG gF 9 4 SR B9 & G494 cHl @ HuE Ue 999 919 6,
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The Statement - ‘the things known must be in the mind' is most indicative of which of the following philosophical position?

1. Absolute idealism

2. Subjective idealism
3. Representationism
4. Naive Realism

1 1
(2) 2
3) 3
4) 4




®YH- JId IxU ST 79 H g 9ieT  Fwifed H 9 faw gite A ol gaiite HEiud S @:

1. FRUe smeefag

2. AfedHE AGaG
3. Uidfieraans

4. 989 dRgdIG

(1)
(2)
(3)
(4)

A W N R

1[Option ID=25673] Question Description : dwbv_pg_phl_eng_2_q93
2[Option ID=25674]
3[Option ID=25675]
4[Option ID=25676]
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Read the following passage and answer the questions that follow:

There is on the one hand the thing of which we are aware -- say the colour of my table -- and on the other hand the actual
awareness itself, the mental act of apprehending a thing. The mental act is undoubtedly mental, but is there any reason to
suppose that the thing apprehended is in any sense mental?... This question of the distinction between the act and the object
in our apprehending of things is vitally important, since our whole power of acquiring knowledge is bound up with it. The
faculty of being acquainted with things other than itself is the main characteristic of a mind. Acquaintance with objects
essentially consists in a relation between the mind and something other than the mind; it is this that constitutes the mind's
power of knowing things. If we say that the things known must be in the mind, we are either unduly limiting the mind's
power of knowing, or we are uttering a mere tautology. We are uttering a mere tautology if we mean by 'in the mind’ the
same as by 'before the mind’, i.e. if we mean merely being apprehended by the mind. But if we mean this, we shall have to
admit that what, in this sense, is in the mind, may nevertheless be not mental... If | am acquainted with a thing which exists,
my acquaintance gives me the knowledge that it exists. But it is not true that, conversely, whenever | can know that a thing of
a certain sort exists, | or someone else must be acquainted with the thing.

FrafafE T 1 wrgde ufee ve iR mu uyt & I= v :
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Which philosophical position is best characterised by the statement - "It is not true that whenever | can know that a thing of
a certain sort exists, | or some one else must be acquainted with the things."?

1. Idealism

2. Realism

3. Psychologism
4. Phenomenalism

(1)
(2)
(3)
(4)

A W N R

fifra oy 4 fow grfAe 7d o [32war sifiered sidl &

" U el ¢ fob oid D2l off 7 I8 oIH Uobdl § b Idud UbR &1 thlg a&] Hiwia o 8, Go 2udl [l 30 oafekd ol 9=
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1. HIGRAG
2. 9RgalG
3. gHIfaHaG
4, URgeAErg

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25677] Question Description : dwbv_pg_phl_eng_2_q9%94
2[Option ID=25678]
3[Option ID=25679]
4[Option ID=25680]
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Read the following passage and answer the questions that follow:

There is on the one hand the thing of which we are aware -- say the colour of my table -- and on the other hand the actual
awareness itself, the mental act of apprehending a thing. The mental act is undoubtedly mental, but is there any reason to
suppose that the thing apprehended is in any sense mental?... This question of the distinction between the act and the object
in our apprehending of things is vitally important, since our whole power of acquiring knowledge is bound up with it. The
faculty of being acquainted with things other than itself is the main characteristic of a mind. Acquaintance with objects
essentially consists in a relation between the mind and something other than the mind; it is this that constitutes the mind's
power of knowing things. If we say that the things known must be in the mind, we are either unduly limiting the mind's
power of knowing, or we are uttering a mere tautology. We are uttering a mere tautology if we mean by 'in the mind’ the
same as by 'before the mind', i.e. if we mean merely being apprehended by the mind. But if we mean this, we shall have to
admit that what, in this sense, is in the mind, may nevertheless be not mental... If | am acquainted with a thing which exists,
my acquaintance gives me the knowledge that it exists. But it is not true that, conversely, whenever | can know that a thing of
a certain sort exists, | or someone else must be acquainted with the thing.

frafafes et o1 wrgde i e fig T us & s difvg:
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According to the given passage, when one uses the idea of 'Nature of things' distinction between which of the following
philosophical notion is overlooked?

1. Knowledge of things and aquaintance of things
2. Knowledge of ideas and knowledge of things
3. Knowing that and knowing how

4. Knowledge of truth and knowledge of things

1) 1
(2) 2
(3) 3
(4) 4




T 710 7TeIfeT & SR 99 B3 ciad aeqail [ Udia & Uedd &l YaF &dl & df Hgifed & 9 {6 ol aia efieio & o
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2. Ug &1 §H 3R 3%g- 941
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1)1

(2) 2

(3) 3

(4) 4

1[Option ID=25681] Question Description : dwbv_pg_phl_eng_2_q95
2[Option ID=25682]

3[Option ID=25683]
4[Option ID=25684]
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Read the following passage and answer the questions that follow:

| would like to defend the notion of applied philosophy, and from the defence there emerge several important points about
its nature. One is that it is essentially interdisciplinary, for the problems with which it deals are usually complex practical ones
to which more than one kind of expertise is relevant. This means that in these days of necessary specialization, applied
philosophy will have to be a cooperative venture if it is to be done properly. Such cooperation between experts is by no
means easy, and the philosopher could make himself useful just by helping each expert to interpret his discipline to the
others. Thus, there is a further reason for my second point about applied philosophy, that it requires insight, imagination,
and synthesis, as well as analytic expertise. The third point is that there is no sharp dividing line between pure and applied
philosophy— “applied" problems will raise "pure" questions (e.g. the ban on contraception raises the question of the
justifiability of the concept of natural law), and “pure” principles can be applied to particular problems (e.g. a testability
criterion for a theory's being scientific can be applied to psychoanalytical and sociological assertions). The fourth point is that
there is no sharp division on the other side either—between applied philosophy and the application of common sense to any
problem of life ("Every man his own applied philosopher”). But not everyone is interested in, or capable of, pure philosophy;
and not everything in pure philosophy has wider implications (e.g. | doubt whether the philosophy of mathematics has any).
So, we can now see how it is true that although philosophy has its own specialized concerns which are not necessarily of
wider interest or relevance (those of pure philosophy) it is also true that philosophy can, and should, be relevant to “the
important questions of everyday life” (applied philosophy).

Frafafea T 1 wryds ufee ve f2w e ust & 39w v
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Among the important points raised regarding the nature of applied philosophy are:
A Itis interdisciplinary in nature

B. It requires sticking to the facts without any interpretation

C. There is no sharp division between pure and applied philosophy

D. There is no sharp division between applied common sense and applied philosophy
Choose the correct answer from the options given below:

1. A and C only.
2.B and D only.
3. A, Cand D only.
4. C and D only.

(1)
(2)
(3)
(4)
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Read the following passage and answer the questions that follow:

| would like to defend the notion of applied philosophy, and from the defence there emerge several important points about
its nature. One is that it is essentially interdisciplinary, for the problems with which it deals are usually complex practical ones
to which more than one kind of expertise is relevant. This means that in these days of necessary specialization, applied
philosophy will have to be a cooperative venture if it is to be done properly. Such cooperation between experts is by no
means easy, and the philosopher could make himself useful just by helping each expert to interpret his discipline to the
others. Thus, there is a further reason for my second point about applied philosophy, that it requires insight, imagination,
and synthesis, as well as analytic expertise. The third point is that there is no sharp dividing line between pure and applied
philosophy— “applied" problems will raise "pure" questions (e.g. the ban on contraception raises the question of the
justifiability of the concept of natural law), and “pure” principles can be applied to particular problems (e.g. a testability
criterion for a theory's being scientific can be applied to psychoanalytical and sociological assertions). The fourth point is that
there is no sharp division on the other side either—between applied philosophy and the application of common sense to any
problem of life ("Every man his own applied philosopher”). But not everyone is interested in, or capable of, pure philosophy;
and not everything in pure philosophy has wider implications (e.g. | doubt whether the philosophy of mathematics has any).
So, we can now see how it is true that although philosophy has its own specialized concerns which are not necessarily of
wider interest or relevance (those of pure philosophy) it is also true that philosophy can, and should, be relevant to “the
important questions of everyday life” (applied philosophy).
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By saying - "Applied” problems raise "Pure" questions, the author means:

1. All philosophical theories have applications

2. Applied problems when analyzed lead to pure philosophical issues.
3. All pure philosophical issues are also applied issues.

4. The distinction between applied and pure philosophy is bogus.

(1)
(2)
(3)
(4)
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Read the following passage and answer the questions that follow:

| would like to defend the notion of applied philosophy, and from the defence there emerge several important points about
its nature. One is that it is essentially interdisciplinary, for the problems with which it deals are usually complex practical ones
to which more than one kind of expertise is relevant. This means that in these days of necessary specialization, applied
philosophy will have to be a cooperative venture if it is to be done properly. Such cooperation between experts is by no
means easy, and the philosopher could make himself useful just by helping each expert to interpret his discipline to the
others. Thus, there is a further reason for my second point about applied philosophy, that it requires insight, imagination,
and synthesis, as well as analytic expertise. The third point is that there is no sharp dividing line between pure and applied
philosophy— “applied" problems will raise "pure" questions (e.g. the ban on contraception raises the question of the
justifiability of the concept of natural law), and “pure” principles can be applied to particular problems (e.g. a testability
criterion for a theory's being scientific can be applied to psychoanalytical and sociological assertions). The fourth point is that
there is no sharp division on the other side either—between applied philosophy and the application of common sense to any
problem of life ("Every man his own applied philosopher”). But not everyone is interested in, or capable of, pure philosophy;
and not everything in pure philosophy has wider implications (e.g. | doubt whether the philosophy of mathematics has any).
So, we can now see how it is true that although philosophy has its own specialized concerns which are not necessarily of
wider interest or relevance (those of pure philosophy) it is also true that philosophy can, and should, be relevant to “the
important questions of everyday life” (applied philosophy).
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Given below are two statements:
Statement I: According to the passage all pure philosophical contemplations necessarily have applications.

Statement II: According to the passage the notion of applied philosophy is premised upon relevance of philosophy to the
important questions regarding lived experience.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true.

(1)
(2)
(3)
(4)
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Read the following passage and answer the questions that follow:

| would like to defend the notion of applied philosophy, and from the defence there emerge several important points about
its nature. One is that it is essentially interdisciplinary, for the problems with which it deals are usually complex practical ones
to which more than one kind of expertise is relevant. This means that in these days of necessary specialization, applied
philosophy will have to be a cooperative venture if it is to be done properly. Such cooperation between experts is by no
means easy, and the philosopher could make himself useful just by helping each expert to interpret his discipline to the
others. Thus, there is a further reason for my second point about applied philosophy, that it requires insight, imagination,
and synthesis, as well as analytic expertise. The third point is that there is no sharp dividing line between pure and applied
philosophy— “applied" problems will raise "pure" questions (e.g. the ban on contraception raises the question of the
justifiability of the concept of natural law), and “pure” principles can be applied to particular problems (e.g. a testability
criterion for a theory's being scientific can be applied to psychoanalytical and sociological assertions). The fourth point is that
there is no sharp division on the other side either—between applied philosophy and the application of common sense to any
problem of life ("Every man his own applied philosopher”). But not everyone is interested in, or capable of, pure philosophy;
and not everything in pure philosophy has wider implications (e.g. | doubt whether the philosophy of mathematics has any).
So, we can now see how it is true that although philosophy has its own specialized concerns which are not necessarily of
wider interest or relevance (those of pure philosophy) it is also true that philosophy can, and should, be relevant to “the
important questions of everyday life” (applied philosophy).
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Given below are two statements, one is labelled as Assertion (&) and the other is labelled as Reason (R).

Assertion (A) : Philosopher could make himself useful by helping other experts to interpret their discipline to others.
Reason (R) : In order to be an applied discipline Philosophy must be considered as essentially interdisciplinary.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4, (&) is false but (R) is true.

(1) 1
(2) 2
3) 3
4) 4
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Read the following passage and answer the questions that follow:

| would like to defend the notion of applied philosophy, and from the defence there emerge several important points about
its nature. One is that it is essentially interdisciplinary, for the problems with which it deals are usually complex practical ones
to which more than one kind of expertise is relevant. This means that in these days of necessary specialization, applied
philosophy will have to be a cooperative venture if it is to be done properly. Such cooperation between experts is by no
means easy, and the philosopher could make himself useful just by helping each expert to interpret his discipline to the
others. Thus, there is a further reason for my second point about applied philosophy, that it requires insight, imagination,
and synthesis, as well as analytic expertise. The third point is that there is no sharp dividing line between pure and applied
philosophy— “applied" problems will raise "pure" questions (e.g. the ban on contraception raises the question of the
justifiability of the concept of natural law), and “pure” principles can be applied to particular problems (e.g. a testability
criterion for a theory's being scientific can be applied to psychoanalytical and sociological assertions). The fourth point is that
there is no sharp division on the other side either—between applied philosophy and the application of common sense to any
problem of life ("Every man his own applied philosopher”). But not everyone is interested in, or capable of, pure philosophy;
and not everything in pure philosophy has wider implications (e.g. | doubt whether the philosophy of mathematics has any).
So, we can now see how it is true that although philosophy has its own specialized concerns which are not necessarily of
wider interest or relevance (those of pure philosophy) it is also true that philosophy can, and should, be relevant to “the
important questions of everyday life” (applied philosophy).
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Given below are two statements, one is labelled as Assertion (&) and the other is labelled as Reason (R).
Assertion (A) : According to the passage, in a certain sense all of us apply philosophy in our daily lives.

Reason (R) : We apply common sense to problems of life and there is no sharp difference between applied philosophy and
application of commeon sense.

In light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4, (&) is false but (R) is true.

(1) 1
(2) 2
3) 3
(4) 4
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